




CUBICLE DIVIDERS� 4 - 23

�� For large stock� 4 - 15
�� For young stock � 16 - 17
�� Cubicle accessories � 18 - 22
�� Fixing accessories� 23

CUBICLE BEDDING� 24 - 27

�� Knee bars and accessories� 24
�� Polylatex soft mattress with rubber top layer� 25
�� Cubicle comfort layers/waterbeds� 26 - 27

ALLEY FLOORS� 28 - 29

�� Alley floors on roll� 28
�� Alley floors as single rubber mats� 29

FEED BARRIERS� 30 - 41

�� Self-locking safety feed barrier model BE � 30 - 31
�� Self-locking feed barrier model KS� 32 - 35
�� Self-locking feed barrier model Swedish� 36
�� Feed barriers model Diagonal� 37
�� Tubular barrier fence� 38
�� Accessories feed barrier� 39 - 41

WATER SUPPLIES� 42 - 45

�� Drinking throughs� 42 - 43
�� Drinking bowls and accessories� 44 - 45

PARTITION BARRIERS� 46 - 52

�� Partition barrier� 46 - 49
�� Cow treatment road� 48
�� Draw gates, barriers and one-way gates� 48 - 49
�� Accessories partition barriers� 50 - 52

MANURE HANDLING SYSTEMS� 53 - 57

�� Over-path bridge for discharge shaft� 53
�� Scraper systems� 54- 55
�� Manure scrapers and accessories� 56 - 57

BULL BARNS � 58 - 59

SEPARATORS  � 60 - 61

PUMPS AND MIXERS� 62 - 65

�� EISELE vertical pumps� 62
�� EISELE submersible mixer� 63
�� Super-Gigant and Mammut mixers� 64
�� Accessories slurry handling� 65

LIGHT & AIR � 66 - 69

�� LUBRATEC® Stabidoor, Roll-up systems and roller blind door� 66 - 67
�� Barn lighting� 68
�� Basket fans� 69

VARIOUS BARN SUPPLIES� 70 - 73

�� Calf pens and hutches� 70 - 71
�� Treatment stages� 72
�� Cow brush and claw bath� 73

PROCESSING SOLUTIONS FOR CATTLE HUSBANDRY� 74

Content



4

For high lying comfort, optimal hygiene and the right support while the cows getting 
up and lying down. The cubicle is mounted with a support foot on the concrete - no 
further support post is needed. 

�� Lots of head space up front to get up easy 
�� 	Nose bar guides cows backwards, therefore less manure on the freestall bedding
�� 	Manufactured from sturdy thick-walled steel tube 60.3 x 3.65 mm 
�� 	Suitable for cubicles with rubber flooring
�� 	Mounting option for PE-pipe
�� 	Flexible to install

Optional:
�� 	Wave-shaped shoulder bar
�� Round-shaped synthetic knee bar in 125 mm or 160 mm 

Model CV (from 18 months)

Cubicle divider



5Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

12-02290-190 Cubicle divider model CV 190 x 98 cm 

10-02295-024 Support foot with threaded strap M12 + bolt 

90-22513-095 Anchor bolt hot galv. M12x95

10-22253-200 Strap clamp 48.3 x 60.3mm, extended

10-21308-000 T-clamp, twofold 48.3 x 60.3mm with 2 bolts + nuts

For accessories see page 18
For accessories knee bars see page 24

Da
tu

m
20

.0
1.
20

1612-02190-190 Liegebox 190cm Mod.CV

190 25
160

12
0-

12
5

24

55
Datum 13.05.2015

12-02290-190 Liegebox 190cm Mod. CV

190

90
 - 

95

24

12
0 

- 1
25

25

160

55

2 - 4 % 

Datum 13.05.2015

12-02290-190 Liegebox 190cm Mod. CV

190

90
 - 

95

24

12
0 

- 1
25

25

160

55

2 - 4 % 

Da
tu

m
20

.0
1.
20

1612-02190-190 Liegebox 190cm Mod.CV

190 25
160

12
0-

12
5

24

55



6

Model KC optimally limits the lying position of the cow and leads her with sufficient 
freedom of movement and headroom. The box can be adjusted in width for different 
animal holding conditions.

�� Lots of headroom while lying down and getting up
�� Cubicle dividers adjustable in width
�� Manufactured from sturdy thick-walled steel tube 60.3 x 3.65 mm 
�� Suitable for cubicles with rubber flooring
�� Mounting option for PE-pipe

Optional:
�� Wave shaped shoulder bar 
�� Round-shaped synthetic knee bar in 125 mm or 160 mm

Model KC (from 18 months)

Cubicle divider



7Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

12-21990-195 Cubicle divider model KC 195 x 99 cm

12-21990-200 Cubicle divider model KC 200 x 99 cm

10-22253-200 Strap clamp 48.3 x 60.3 mm, extended

10-21317-000 T-clamp twofold 60.3 x 60.3 mm with 3 bolts + nuts 

10-22151-000 Set mounting parts for 60.3 mm cubicle on 70 mm sq. support 

98-22195-130 Support post 70mm sq. x 130cm screw on incl. end cap

98-22195-150 Support post 70mm sq. x 150cm screw on incl. end cap

16-21053-150 Central support 60.3 mm 150 x 70 cm screw on

16-21053-058 Central support 60.3 mm 150 x 58 cm screw on

90-22513-095 Anchor bolt hot-galvanized M12x95

For accessories see page 18
For accessories knee bars see page 24

Da
tu

m
21

.0
1.
20

1612-21990-190 Liegebox KC 190cm

195

25

170

55

±2
1

±1
20

Datum 06.01.2016

12-21990-190 Montage Liegebox  Mod. KC

25

195

±2
1

±1
20

170

Da
tu

m
21

.0
1.
20

1612-21990-190 Liegebox KC 190cm

195

25

170

55

±2
1

±1
20

Datum 06.01.2016

12-21990-190 Montage Liegebox  Mod. KC

25

195

±2
1

±1
20

170



8

Deep litter box with excellent lying comfort and much freedom of movement while 
resting. The special design of the divider positions the cows in a straight line. Easy to 
mount on a central support 60.3 mm x 160 cm for double rows or with a support post 
76.1 mm x 180 cm cast-in for single rows.

�� Excellent lying comfort 
�� Adjustable in height and therefore reduced contact to the cubicle 
�� Mounting at support post or central support 
�� Manufactured from sturdy thick-walled steel tube 60.3 x 3.65 mm 

Model USA I Comfy (from 18 months)

Cubicle divider



9Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

19-00999-025 Cubicle divider model USA-I Comfy 210x85cm

10-22253-200 Strap clamp 48.3 x 60.3 mm, extended

10-21317-000 T-clamp, twofold 60.3 x 60.3 mm with 3 bolts + nuts

10-21320-000 T-clamp, twofold 76.1 mm x 60.3 mm with 3 bolts + nuts 

10-21316-000 Cross-clamp, twofold 60.3 mm x 76.1 mm x 60.3 mm with 4 bolts + nuts

16-21053-160 Central support 60.3 mm 160 x 70 cm screw on

98-22040-180 Support post 76.1 mm x 180 cm cast in incl. protective sleeve and end cap 

99-00099-881 Wall fastener for PE tube 160 x 6.2 mm

17-12120-160 Meter PE-tube 160 x 6.1 mm 

16-22725-200 Distance support for 160 mm PE tube

90-23512-095 Anchor bolt stainless steel M12x95

17-12123-030 Tube connector for PE tube 160 mm

13
.0
6.
20

18Liegebox 210cm/85cm 
Mod. Engelnhof D

at
um

:

25

546

210

180

170

25

75
85

70

26

13
.0
6.
20

18Liegebox 210cm/85cm 
Mod. Engelnhof D

at
um

:

25

546

210

180

170

25

75
85

70

26

13
.0
6.
20

18Liegebox 210cm/85cm 
Mod. Engelnhof D

at
um

:

25

265
16

0

85

25

210

75 26

170

13
.0
6.
20

18Liegebox 210cm/85cm 
Mod. Engelnhof D

at
um

:

25

265

16
0

85

25

210

75 26

170



10

Adjustable in height and without any disturbing tubes at the front is the cubicle divider 
model USA-II versatilely useable. It supports optimal lying comfort and therefore 
perfect conditions for the milk production.  

�� Manufactured from sturdy thick-walled steel tube 60.3 × 3.65 mm
�� Divider is reversible to mount  
(rotation is possible when the long side is needed for a better guiding of the cow) 
�� Suitable for deep litter bedding 
�� Solid three-point construction
�� Mounting on/to support posts or front rails 

Optional:
�� Wave-shaped shoulder bar
�� Round-shaped synthetic knee bar

Model USA-II (from 18 months)

Cubicle divider



11Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

12-21820-195 Cubicle divider USAII 195 x 100 cm, punched 

12-21820-200 Cubicle divider USAII 200 x 100 cm, punched

10-22253-200 Strap clamp 48.3 x 60.3 mm, extended

10-21317-000 T-clamp twofold 60.3 x 60.3 mm with 3 bolts + nuts

10-21320-000 T-clamp, twofold 76.1mm x 60.3 mm with 3 bolts + nuts

10-21312-000 Cross-clamp, twofold 60.3 mm x 60.3 mm x 60.3 mm with 4 bolts + nuts

10-21316-000 Cross-clamp, twofold 60.3 mm x 76.1 mm x 60.3 mm with 4 bolts + nuts

10-22151-000 Set mounting parts for 60.3 mm cubicle on 70 mm sq. support post 

95-22185-130 Support post 60.3 mm x 130 cm, heavy base 70 mm screw on

95-22185-150 Support post 60.3 mm x 150 cm, heavy base 70 mm screw on

95-22046-130 Support post 76.1 mm x 130 cm, heavy base 89 mm screw on

95-22046-150 Support post 76.1 mm x 150 cm, heavy base 89 mm screw on

16-21051-160 Central support 60.3 mm 160 x 52 cm screw on

16-21053-160 Central support 60.3 mm 160 x 70 cm screw on

90-22513-095 Anchor bolt hot-galvanized M12x95

For accessories see page 18     |    For accessories knee bars see page 24

Datum 24.07.2015

12-21821-190 Liegebox Mod. USA II

195

25

175

175


20


14

0

10
0



Datum 04.01.2016

12-21821-190
Liegebox Mod. USA II doppelreihe 
U-Bock-gebogen 2" Nackenrohr gebogen

±2
0

175

25

175

190

70

460

14
0

±

Datum 04.01.2016

12-21821-190
Liegebox Mod. USA II doppelreihe 
U-Bock-gebogen 2" Nackenrohr gebogen

±2
0

175

25

175

190

70

460

14
0

±

Datum 24.07.2015

12-21821-190 Liegebox Mod. USA II

195

25

175

175


20


14

0

10
0





12

The cubicle divider model USA-II BS provides high lying comfort and leads the cow 
with sufficient freedom of movement. This cubicle is mounted on a brisket-concrete 
base and that makes it a material-saving and cheap alternative to deep litter bedding. 

�� Lots of head space up front to get up easy
�� Optimal for deep litter bedding 
�� Manufactured from sturdy thick-walled steel tube 60.3 × 3.65 mm
�� Solid three-point construction
�� Mounting on brisket-concrete base

Optional:
�� Wave-shaped shoulder bar
�� Round-shaped synthetic knee bar

Model USA II BS (from 18 months)

Cubicle divider



13Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

12-21830-200 Cubicle divider model USA-BS 200x99cm

16-02263-000 Support foot for brisket-concrete-base 70 x 4 – 200 mm with plate

16-02294-040 Connecting tube for cubicle divider 70 x 3 - 400 mm

90-22055-000 Bow bracket 60.3, 30 x 5 mm 

10-22253-200 Strap clamp 48.3 x 60.3 mm, extended

10-21308-000 T-clamp 48.3 x 60.3 mm with 2 bolts + nuts

90-22513-095 Anchor bolt hot-galvanized M12x95

90-22511-090 Anchor bolt hot-galvanized M10x95

For accessories see page 18
For accessories knee bars see page 24

Datum 05.01.2016

12-21830-200 
Liegebox 200/215cm-115cm 
Mod. USA II BS

25

175 215

11
5

200180

520

35

20

Datum 05.01.2016

12-21830-200 
Liegebox 200/215cm-115cm 
Mod. USA II BS

25

175 215

11
5

200180

520

35

20

Da
tu

m
29

.0
1.

20
1612-21830-200 Liegebox 200x115cm Mod. USA II BS

175

25

200

35

215

11
5

Da
tu

m
29

.0
1.

20
1612-21830-200 Liegebox 200x115cm Mod. USA II BS

175

25

200

35

215

11
5



14

Developed for high demands at lying comfort, dryness and skin protection as well 
as sufficient freedom of movement for the cows. This cubicle divider model DS is 
specifically for deep litter bedding. It reduces deformation of the lying area and there-
fore promotes the welfare and production performance of the cow.

�� Specifically for deep litter bedding 
�� Manufactured from sturdy thick-walled steel tube 60.3 × 3.65 mm
�� Solid three-point construction
�� Floor mounted through front and rear mounting foot

DS is available in 2 versions:
�� Model DS 120 with standard construction height of 120cm and nose bar height of 95cm 
�� Model DS 130 with standard construction height of 120cm and nose bar height of 105cm

Optional:
�� Wave-shaped shoulder bar
�� Round-shaped synthetic knee bar

Model DS (deep litter, from 18 months)

Cubicle divider



15Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

13-21815-120 Cubicle divider 190 x 120 cm, deep litter, 60.3mm x 3.6mm

13-21814-120 Cubicle divider 190 x 120cm, deep litter, 60.3mm x 3.6mm, strengthened rear foot

13-21815-130 Cubicle divider 190 x 130cm, deep litter, 60.3mm x 3.6mm

13-21814-130 Cubicle divider 190 x 130cm, deep litter, 60.3mm x 3.6mm, strengthened rear foot

10-22253-200   Strap clamp 48.3 x 60.3mm, extended

10-22235-200   Strap clamp 48.3 x 60.3mm

90-22513-095   Anchor bolt hot-galvanized M12x95

96-21220-150   Meter tube galv. 48.3mm x 3.25mm

16-21234-150 Tube coupling outer 48.3mm

For accessories see page 18
For accessories knee bars see page 24

Da
tu

m
20

.0
1.
20

1613-21815-120 Liegebox 190x120cm Tiefstreu

190

25

170

12
0

Datum 11.08.2015

13-21815-120 Liegebox 190 x 120cm Tiefstreu

25

170

190

12
0

95±

Da
tu

m
20

.0
1.
20

1613-21815-120 Liegebox 190x120cm Tiefstreu

190

25

170

12
0

Datum 11.08.2015

13-21815-120 Liegebox 190 x 120cm Tiefstreu

25

170

190

12
0

95±



16

Made in three sizes, the cubicle divider, model young stock, can be adjusted in 
accordance to age, race and size. The cubicles support the animals while getting  
up and lying down.

�� Manufactured from sturdy thick-walled steel tube 48.3 x 3.25 mm 
�� Solid three-point construction 
�� Adjustable in width 

Model young stock (from 2-18 months)

Cubicle divider



17Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

11-22060-140 Cubicle divider model JV – young stock 140 x 60cm, 2-6 months

11-22060-155 Cubicle divider model JV – young stock 155 x 65cm, 6-12 months

11-22060-170 Cubicle divider model JV – young stock 170 x 69cm, 12-18 months

10-21313-000 T-clamp twofold 48.3 x 48.3mm with 3 bolts + nuts

10-22254-150 Strap clamp 48.3 x 48.3mm

For accessories see page 18     |     For accessories knee bars see page 24

Datum 11.06.2015

11-21060-140 Liegebox freitragend 140cm 1,5"

140

15

80

115

1,5"

Datum 07.05.2015

11-21060-155 Liegebox freitragend 155cm 1,5"

155

15

90

120

1,5"

Datum 11.06.2015

11-21060-170 Liegebox freitragend 170cm 1,5"

170

15

94

135

1,5"

Datum 11.06.2015

11-21060-140 Liegebox freitragend 140cm 1,5"

140

15

80

115

1,5"

Datum 07.05.2015

11-21060-155 Liegebox freitragend 155cm 1,5"

155

15

90

120

1,5"

Datum 11.06.2015

11-21060-170 Liegebox freitragend 170cm 1,5"

170

15

94

135

1,5"



18

Article No. Description

18-22085-110      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 110cm for 3 cubicles

18-22085-112      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 112.5cm for 3 cubicles

18-22085-115      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 115cm for 3 cubicles

18-22085-120      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 120cm for 3 cubicles

18-22085-121      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 121.5cm for 3 cubicles

16-21234-150      Tube coupling outer 48.3mm

Article No. Description

Support posts 70 mm sq. with base and gusset

98-22195-080 Support post 70mm sq. x 80cm screw on

98-22195-100 Support post 70mm sq. x 100cm screw on

98-22195-120 Support post 70mm sq. x 120cm screw on

98-22195-130 Support post 70mm sq. x 130cm screw on

98-22195-150 Support post 70mm sq. x 150cm screw on

98-22195-160 Support post 70mm sq. x 160cm screw on

98-22195-180 Support post 70mm sq. x 180cm screw on

Support posts Ø 76.1mm with base and gusset

98-22045-120 Support post 76.1mm x 120cm screw on

98-22045-130 Support post 76.1mm x 130cm screw on

98-22045-150 Support post 76.1mm x 150cm screw on

98-22045-160 Support post 76.1mm x 160cm screw on

98-22045-180 Support post 76.1mm x 180cm screw on

Support posts Ø 76.1mm with heavy base 89mm

95-22046-130 Support post 76.1mm x 130cm with heavy base screw on

95-22046-150 Support post 76.1mm x 150cm with heavy base screw on

Support posts Ø 60.3mm with heavy base 70mm

95-22185-130 Support post 60.3mm x 130cm with heavy base screw on

95-22185-150 Support post 60.3mm x 150cm with heavy base screw on

Support posts cast-in

98-22190-150 Support post 70mm sq. x 150cm cast-in

98-22190-180 Support post 70mm sq. 180cm cast-in 

98-22040-150 Support post 76.1mm x 150cm cast-in

98-22040-180 Support post 76.1mm x 180cm cast-in

WAVE-SHAPED SHOULDER BAR

SUPPORT POSTS
Datum 04.06.2015

18-22085-120 
Nackenrohr gebogen 120cm 
Höhe 20cm 3PL

Stand Stand

20
0

11
.0
8.
20

15

Standrohre

D
at
um

:

Datum 11.08.2015

Standrohre mit Fußplatte

11
.0
8.
20

15

Standrohre

D
at
um

:

screw on

screw on, heavy base

cast-in

Cubicle accessories

Cubicle divider



19Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

18-22085-110      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 110cm for 3 cubicles

18-22085-112      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 112.5cm for 3 cubicles

18-22085-115      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 115cm for 3 cubicles

18-22085-120      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 120cm for 3 cubicles

18-22085-121      Wave-shaped shoulder bar 20cm,  
cubicle width c.t.c. 121.5cm for 3 cubicles

16-21234-150      Tube coupling outer 48.3mm

Tube conversion table (German and dutch inch  millimeter)

Inch 1/2" 3/4" 1" 1.25" 1.5" 2" 2.5" 3" 3.5" 4" 5" 6"

mm 21.3 26.9 33.7 42.4 48.3 60.3 76.1 88.9 101.6 114.3 139.7 165.3

Article No. Description

Tubes 

96-21220-100 Meter tube galv. 33.7 x 3.25mm

96-21220-150 Meter tube galv. 48.3 x 3.25mm

96-21220-200 Meter tube galv. 60.3 x 3.25mm

96-21220-250 Meter tube galv. 76.1 x 3.25mm

96-21220-300 Meter tube galv. 88.9 x 3.25mm

(All tube lengths: 6 meter)

Tube couplings inner 

16-21240-100 Tube coupling inner for 33.7mm

16-21240-150 Tube coupling inner for 48.3mm

16-21240-200 Tube coupling inner for 60.3mm

16-21240-250 Tube coupling inner for 76.1mm

16-21240-300 Tube coupling inner for 88.9mm

Tube couplings outer 

10-21254-150 Tube coupling outer, twofold for 48.3mm

10-21254-200 Tube coupling outer, twofold for 60,3mm

16-21234-150 Tube coupling outer for 48.3mm

16-21234-200 Tube coupling outer for 60.3mm

Article No. Description

Protective sleeves

95-21264-200 Protective sleeve for 60.3 x 180mm

95-21264-250 Protective sleeve for 76.1 x 180mm

95-21264-300 Protective sleeve for 88.9 x 180mm

95-21265-070 Protective sleeve for 70mm sq. x 180mm

End caps

95-21270-100 End cap for 33.7mm

95-21270-150 End cap for 48.3mm

95-21270-200 End cap for 60.3mm

95-21270-250 End cap for 76.1mm

95-21270-300 End cap for 88.9mm

95-21271-050 End cap for 50mm sq.

95-21271-070 End cap for 70mm sq. 

PROTECTIVE SLEEVES AND END CAPS

TUBES AND TUBE COUPLINGS

11
.0
8.
20

15

Rohrverbinder innen

D
at
um

:

Datum 15.06.2015
16-21234-150 Rohrverbinder aussen 1,5"

Datum 15.06.2015

10-21254-150 Rohrverbinder 2-teilig

17
.0
6.
20

15Endkappen Kunstoffhülse

D
at
um

:

17
.0
6.
20

15Endkappen Kunstoffhülse

D
at
um

:

16-21240-xxx

96-21220-xxx

10-21234-xxx10-21254-xxx

Da
tu

m

07
.0
5.
20

18

Bund 2
" Rohr



20

Datum
11.05.2015

10-21317-000 T-Klemme 2" x 2" ES

Datum 11.05.2015

98-22230-000 Drahtklemme

Datum 11.05.2015

10-21312-000 Kreuzklemme 2" x 2" x 2" ES

Article No. Description A x B

10-22254-150 Strap clamp 48.3mm x 48.3mm

10-22235-200 Strap clamp 48.3mm x 60.3mm

10-22253-200 Strap clamp 48.3mm x 60.3mm, extended

10-22255-150 Strap clamp 60.3mm x 48.3mm 

10-22255-200 Strap clamp 60.3mm x 60.3mm

10-22257-150 Strap clamp 76.1mm x 48.3mm

10-22257-200 Strap clamp 76.1mm x 60.3mm

10-22258-150 Strap clamp 70mm sq. x 48.3mm

10-22258-200 Strap clamp 70mm sq. 60.3mm

Article No. Description A x B

10-21300-000 T-clamp twofold * 33.7mm x 33.7mm

10-21301-000 T-clamp twofold * 42.4mm x 33.7mm

10-21302-000 T-clamp twofold * 42.4mm x 42.4mm 

10-21303-000 T-clamp twofold * 48.3mm x 33.7mm

10-21304-000 T-clamp twofold * 48.3mm x 42.4mm

10-21305-000 T-clamp twofold * 48.3mm x 48.3mm

10-21313-000 T-clamp twofold *** 48.3mm x 48.3mm ES 

10-21308-000 T-clamp twofold ** 48.3mm x 60.3mm

10-21306-000 T-clamp twofold * 60.3mm x 48.3mm

10-21307-000 T-clamp twofold * 60.3mm x 60.3mm 

10-21317-000 T-clamp twofold *** 60.3mm x 60.3mm ES

10-21309-000 T-clamp twofold * 76.1mm x 48.3mm

10-21310-000 T-clamp twofold * 76.1mm x 60.3mm

10-21320-000 T-clamp twofold *** 76.1mm x 60.3mm ES

Article No. Description A x B x A

10-21312-000 Cross clamp 60.3mm x 60.3mm x 60.3mm ES

10-21314-000 Cross clamp 48.3mm x 76.1mm x 48.3mm

10-21316-000 Cross clamp 60.3mm x 76.1mm x 60.3mm ES

Article No. Description A x B

98-22230-000 Threaded clamp 48.3mm x 48.3mm

98-22231-000 Threaded clamp 60.3mm x 48.3mm

STRAP CLAMPS 

T-CLAMPS

CROSS CLAMPS

THREADED CLAMPS

* 1x bolt and nut  |  ** 2x bolt and nut  |  *** 3x bolt and nut

4x bolt + nut

Datum 11.05.2015

10-22252-200 
Kappbügelklemme 1,5" x 2", 
verlängert

Datum 11.05.2015

10-22254-150 Kappbügelklemme 1,5" x 1,5" Datum11.05.2015

10-22258-200 Kappbügelklemme VK70 x 2"

A

A

A

B

BB

B

B

B

B

B

Da
tu
m

11
.0
5.
20
15

10
-2
13
05
-0
00
 T-

Kl
em
me
 1,
5"
 x
 1,
5"

Da
tu
m

11
.0
5.
20
15

10
-2
13
05
-0
00
 T-

Kl
em
me
 1,
5"
 x
 1,
5"

AA

A

A

A

A

Cubicle divider
Cubicle accessories



21Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description Dimensions

90-22060-050 Bow bracket 50mm sq. 30 x 5 mm

16-22058-000 Bow bracket 60mm sq. 30 x 5 mm

90-22059-070 Bow bracket 70mm sq. 30 x 5 mm

16-22258-000 Bow bracket 70mm sq. 100 x 5 mm  

90-23501-080 Bow bracket 80mm sq. 30 x 6 mm

90-23502-080 Bow bracket 80mm sq.  40 x 8 mm

90-22227-000 Cross-over clamp * 60.3 x 48.3 mm

90-22228-000 Cross-over clamp * 60.3 x 60.3 mm

90-22229-000 Cross-over clamp *     76.1 x 60.3 mm

Article No. Description

16-22151-001 Wall fastener for 48.3mm cubicle

16-22151-000 Wall fastener for 60.3mm cubicle

90-22218-015 Wall fastener for feed barrier 48.3mm, pivoted

90-22218-020 Wall fastener for feed barrier 60.3mm, pivoted

Article No. Description Dimensions

90-22050-000 Bow bracket  21.3 mm 25 x 3 mm

90-22051-000 Bow bracket 26.9 mm 30 x 4 mm

90-22052-000 Bow bracket 33.7 mm 30 x 4 mm

90-22053-000 Bow bracket 42.4 mm 30 x 5 mm

90-22054-000 Bow bracket 48.3 mm 30 x 5 mm

16-22254-000 Bow bracket 48.3 mm 100 x 5 mm

90-22055-000 Bow bracket 60.3 mm 30 x 5 mm

16-22255-000 Bow bracket 60.3 mm 100 x 5 mm

90-22056-000 Bow bracket 76.1 mm 30 x 5 mm 

16-22257-000 Bow bracket 76.1 mm 100 x 5 mm

90-22057-000 Bow bracket 88.9 mm 30 x 5 mm

90-22156-000 Bow bracket 101.6 mm 30 x 5 mm

90-22157-000 Bow bracket 114.3 mm 30 x 5 mm

BOW BRACKET SQUARE   100 mm wide

FASTENERS FOR CUBICLE DIVIDERS

BOW BRACKET ROUND   100 mm wide

Datum 14.08.2015

16-22058-000 Kappbügel VK 60 - 30 x 5

Datum 08.05.2015

90-22055-000 Kappbügel 2", 30 x 5

Datum 14.08.2015

16-22258-000 Kappbügelklemme VK70, 100x5

Datum 14.08.2015

16-22254-000 Kappbügelklemme 1,5", 100x5

Article No. Description A x B

10-22254-150 Strap clamp 48.3mm x 48.3mm

10-22235-200 Strap clamp 48.3mm x 60.3mm

10-22253-200 Strap clamp 48.3mm x 60.3mm, extended

10-22255-150 Strap clamp 60.3mm x 48.3mm 

10-22255-200 Strap clamp 60.3mm x 60.3mm

10-22257-150 Strap clamp 76.1mm x 48.3mm

10-22257-200 Strap clamp 76.1mm x 60.3mm

10-22258-150 Strap clamp 70mm sq. x 48.3mm

10-22258-200 Strap clamp 70mm sq. 60.3mm

Article No. Description A x B

10-21300-000 T-clamp twofold * 33.7mm x 33.7mm

10-21301-000 T-clamp twofold * 42.4mm x 33.7mm

10-21302-000 T-clamp twofold * 42.4mm x 42.4mm 

10-21303-000 T-clamp twofold * 48.3mm x 33.7mm

10-21304-000 T-clamp twofold * 48.3mm x 42.4mm

10-21305-000 T-clamp twofold * 48.3mm x 48.3mm

10-21313-000 T-clamp twofold *** 48.3mm x 48.3mm ES 

10-21308-000 T-clamp twofold ** 48.3mm x 60.3mm

10-21306-000 T-clamp twofold * 60.3mm x 48.3mm

10-21307-000 T-clamp twofold * 60.3mm x 60.3mm 

10-21317-000 T-clamp twofold *** 60.3mm x 60.3mm ES

10-21309-000 T-clamp twofold * 76.1mm x 48.3mm

10-21310-000 T-clamp twofold * 76.1mm x 60.3mm

10-21320-000 T-clamp twofold *** 76.1mm x 60.3mm ES

Article No. Description A x B x A

10-21312-000 Cross clamp 60.3mm x 60.3mm x 60.3mm ES

10-21314-000 Cross clamp 48.3mm x 76.1mm x 48.3mm

10-21316-000 Cross clamp 60.3mm x 76.1mm x 60.3mm ES

Article No. Description A x B

98-22230-000 Threaded clamp 48.3mm x 48.3mm

98-22231-000 Threaded clamp 60.3mm x 48.3mm

Article No. Description

10-22179-000 Wall fastener incl. strap clamp, adjustable

90-22154-000 Wall fastener for 48.3mm, inner

90-22155-000 Wall fastener for 60.3mm, inner

20-22160-150 Wall fastener + threaded strap 48.3mm

20-22160-200 Wall fastener + threaded strap 60.3mm

WALL FASTENERS

Datum 11.05.2015

10-22179-000 
Wandhalter verstellbares 
Nackenrohr

Datum 11.05.2015

20-22160-150 Wandhalter mit DrahtbügelDatum 11.05.2015

90-22154-000 Wandhalter für 1,5"

10-22179-000 90-2215x-000 20-22160-xxx

Da
tu

m
07

.0
5.

20
1816-22151-000 Wandhalter 

für Liegebox 2" Da
tu

m
07

.0
5.

20
1890-22218-001 Wandhalter für 2" 

Lang-Rundloch gr.Platte

* not illustrated



22

Datum 11.08.2015

99-00099-369 Abstandshalter für 160mm Rohr

10

16

Article No. Description

16-22112-150 Fastener for 48.3mm retaining bar

16-22112-200 Fastener for 60.3mm retaining bar

16-22112-250 Fastener for 76.1mm retaining bar

Article No. Description

90-16050-050 Strap 50mm p/m

90-16051-050 Belt tensioner with 50mm strap

16-16056-000 Strap plate 100x6, 110mm with chain link,  
for mounting on 60.3mm

16-16057-001 Strap plate 120x8, 120mm with chain link,  
for mounting on 70mm sq. 

16-22861-000 Threaded strap M10, 60.3mm x 90mm (2 pieces per plate)

Article No. Description Dimensions

90-22715-000 Threaded straps M8 33.7mm x 60mm

90-22812-000 Threaded straps M8 33.7mm x 75mm

90-22813-000 Threaded straps M10 33.7mm x 60mm

90-22815-000 Threaded straps M10 42.4mm x 75mm

16-22856-000 Threaded straps M10 48.3mm x 80mm

16-22861-000 Threaded straps M10 60.3mm x 90mm

90-22072-000 Threaded straps M10 96.1mm x 110mm

16-22860-000 Threaded straps M12 60.3mm x 90mm

16-22891-000 Threaded straps M12 96.1mm x 110mm

90-22797-000 Threaded straps M12 88.9mm x 125mm

90-22792-000 Threaded straps M12 101.6mm x 135mm

90-22076-000 Threaded straps M12 114.3mm x 150mm

90-22893-000 Threaded straps M10 50mm sq. x 80mm

90-22894-000 Threaded straps M10 60mm sq. x 100mm

16-22895-000 Threaded straps M12 70mm sq. x 102mm

Article No. Description

10-22718-024 Knee board support 24cm, including 60.3mm threaded strap

10-22718-017 Knee board support 17cm, including 60.3mm threaded strap

17-12125-125 Meter PE tube 125 x 7.4mm

17-12120-160  Meter PE tube 160 x 6.1mm

17-12125-160 Meter PE tube 160 x 9.1mm

17-12125-200 Meter PE tube 200 x 9.6mm

90-22728-130 Bow bracket with single support for tube 125mm,  
inner height 135mm

90-22728-170 Bow bracket with single support for tube 160mm,  
inner height 170mm

16-22725-100 Distance holder for 160mm tube, 50 x 8mm,  
distance from the bottom 100mm

FASTENERS FOR REAR RETAINING BAR

NYLON RETAINING BELT

THREADED STRAPS

SUPPORTS FOR KNEE BAR & KNEE BOARD

Datum
15.06.2015

16-22112-150 Str
ohkehrrin

g für 1,5
"

Datum 08.05.2015

16-22861-000 
Drahtbügel M10 2" 90mm 
mit Muttern

Datum 15.06.2015

10-22718-017 
Knielattenhalter 17cm, 
inkl. 2" Drahtbügel

Datum 15.06.2015

10-22718-024 
Knielattenhalter 24cm, 
inkl. 2" Drahtbügel

Datum 15.06.2015

90-22728-130 
Kappbügel mit 1 Lippe 
für Rohr 125mm

Datum 15.06.2015

16-16056-000 
Spannbandplatte 100x6-110mm 
mit Kettenglied

Datum 15.06.2015

16-16056-000 
Spannbandplatte 100x6-110mm 
mit Kettenglied

10-22718-024

10-22718-017

16-22725-100

90-22728-xxx

Datum 08.05.2015

16-22895-000 
Drahtbügel M12 VK70x102 
m.Mutter

Cubicle divider
Cubicle accessories



23Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

16-22112-150 Fastener for 48.3mm retaining bar

16-22112-200 Fastener for 60.3mm retaining bar

16-22112-250 Fastener for 76.1mm retaining bar

Article No. Description

90-16050-050 Strap 50mm p/m

90-16051-050 Belt tensioner with 50mm strap

16-16056-000 Strap plate 100x6, 110mm with chain link,  
for mounting on 60.3mm

16-16057-001 Strap plate 120x8, 120mm with chain link,  
for mounting on 70mm sq. 

16-22861-000 Threaded strap M10, 60.3mm x 90mm (2 pieces per plate)

Article No. Description Dimensions

90-22715-000 Threaded straps M8 33.7mm x 60mm

90-22812-000 Threaded straps M8 33.7mm x 75mm

90-22813-000 Threaded straps M10 33.7mm x 60mm

90-22815-000 Threaded straps M10 42.4mm x 75mm

16-22856-000 Threaded straps M10 48.3mm x 80mm

16-22861-000 Threaded straps M10 60.3mm x 90mm

90-22072-000 Threaded straps M10 96.1mm x 110mm

16-22860-000 Threaded straps M12 60.3mm x 90mm

16-22891-000 Threaded straps M12 96.1mm x 110mm

90-22797-000 Threaded straps M12 88.9mm x 125mm

90-22792-000 Threaded straps M12 101.6mm x 135mm

90-22076-000 Threaded straps M12 114.3mm x 150mm

90-22893-000 Threaded straps M10 50mm sq. x 80mm

90-22894-000 Threaded straps M10 60mm sq. x 100mm

16-22895-000 Threaded straps M12 70mm sq. x 102mm

Article No. Description

10-22718-024 Knee board support 24cm, including 60.3mm threaded strap

10-22718-017 Knee board support 17cm, including 60.3mm threaded strap

17-12125-125 Meter PE tube 125 x 7.4mm

17-12120-160  Meter PE tube 160 x 6.1mm

17-12125-160 Meter PE tube 160 x 9.1mm

17-12125-200 Meter PE tube 200 x 9.6mm

90-22728-130 Bow bracket with single support for tube 125mm,  
inner height 135mm

90-22728-170 Bow bracket with single support for tube 160mm,  
inner height 170mm

16-22725-100 Distance holder for 160mm tube, 50 x 8mm,  
distance from the bottom 100mm

Article No. Description

90-22511-090 Anchor bolt  M10x90, hot galvanized

90-22513-095 Anchor bolt  M12x95, hot galvanized 

90-22513-145 Anchor bolt  M12x145, hot galvanized

90-22517-115 Anchor bolt  M16x115, hot galvanized

90-22517-150 Anchor bolt  M16x150, hot galvanized

Article No. Description

90-58116-040 Impact anchor Inox VA 6x40

90-58016-080 Impact anchor Inox VA 8x80

90-58016-081 Impact anchor Inox VA 8x80 with washer

Article No. Description

90-12110-060 Lag bolts M10x60

90-12110-080 Lag bolts M10x80

Article No. Description

90-22095-050 Carriage bolts with nuts M10x50

90-22095-070 Carriage bolts with nuts M10x70

Article No. Description

98-10010-040 Bolts with nuts M10x40

98-10010-050 Bolts with nuts M10x50

98-10010-060 Bolts with nuts M10x60 

98-10010-080 Bolts with nuts M10x80

98-10010-100 Bolts with nuts M10x100

98-10010-120 Bolts with nuts M10x120

98-10012-040 Bolts with nuts M12x40

98-10012-050 Bolts with nuts M12x50

98-10012-060 Bolts with nuts M12x60

98-10012-080 Bolts with nuts M12x80

98-10012-090 Bolts with nuts M12x90

98-10012-100 Bolts with nuts M12x100

98-10012-120 Bolts with nuts M12x120

ANCHOR BOLTS

IMPACT ANCHOR INOX

LAG BOLTS 

CARRIAGE BOLTS WITH NUTS

BOLTS WITH NUTS

08
.0
5.
20

15

Schrauben

08
.0
5.
20

15

Schrauben

Datum 23.09.2015

90-58016-081 
Nageldübel  VA 8x80, 
mit Scheibe 8x25-2m

08
.0
5.
20

15

Schrauben

08
.0
5.
20

15

Schrauben

D
at
um

:
08

.0
5.
20

15

Schrauben

D
at
um

:

08
.0
5.
20

15

Schrauben

D
at
um

:

98-10010-xxx

98-10012-xxx

Fixing accessories



24

Article No. Description

PE-Tube 200

17-12125-200 PE-tube 200mm, 9.6mm wall thickness p/m

90-22171-000 Bow bracket 200mm, 40 x 6mm

90-22511-090 Anchor bolt M10x90 hot galvanized

PE-Tube 160

17-12120-160 PE-tube 160mm, 6.2mm wall thickness p/m

16-22725-100 Distance holder for 160 mm PE-tube, 
50 x 8 mm, distance from the bottom 100 mm

90-22513-095 Anchor bolt M12x95 hot galvanized

90-22728-170
Bow bracket with single support for  
tube 160 mm, inner height 170 mm

90-22511-090 Anchor bolt M10x90 hot galvanized

PE-Tube 125

17-12125-125 PE-tube 125mm, 7.3mm wall thickness p/m

90-22728-130 Bow bracket with single support for  
tube 125 mm, inner height 135 mm

90-22511-090 Anchor bolt M10x90 hot galvanized

PE-tube 200mm in bow bracket

PE-tube 160-125mm mounted on cubicle floor

PE-tube 160mm mounted in elevated bow bracket

PE-tube 125mm mounted on cubicle divider 

�� Round-shaped 
�� Keeps cows to the rear end of the cubicle 
�� Cleaner bedding 
�� Highly durable made out PE 
�� PE-tube 160mm, wall thickness 6.2mm
�� PE-tube 125mm, wall thickness 7.3mm

Cubicle bedding
Knee bars



25Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

Top layer

41-55078-200 Meter rubber top layer Bioret 3.2mm 
200cm wide with wave profile

41-55073-200 Meter rubber top layer 3.2mm 
200cm wide with fabric profile

41-55090-190 Meter rubber top layer 8.0mm  
190cm wide with hammer stroke profile

Mattresses

43-58073-180 Polylatex soft mattress 100 x 180 x 3cm

43-58077-180 Polylatex soft mattress 100 x 180 x 4cm

49-58066-050 Protection foil on a roll 0.2mm, 50 x 4m

05-06001-050 Tape to seal protection foil

Fixing

98-58120-000 Mounting profile Aluminium 3000 x 60mm 
with 8x inox screw

40-58116-200 Mounting profile PE 2000 x 20 x 25mm  
with fixing material

98-55006-300 Mounting profile Inox 8 x 15 x 3000mm 
90° with fixing material

 
       Pacific Waterbed

Beerepoot Stalinrichtingen BV  ▪  Tel. (+31)(0)346 35 19 34  ▪  Fax. (+31)(0)346 35 47 41  ▪  www.beerepootagri.com

 
 

Pacific Waterbed New Generation 

The characteristics still stay the same as the old one: 

Marry the shape of the cow without pressure points. 
Natural insulation of rubber in  roll up to 50 mattress. 
The reliability of the double textile reinforcement 
inside the rubber.  
An adapted non-skid structure. 
Hygienic and easy of maintenance due to convex surface. 
Immediate flow of the liquids after lifting of the animal. 
A simple and fast installation 

Each cubicle has an independent water reserve. 
 
The pacific waterbed has been improved according the comments we had from our 
customers. If the resistance and comfort were certified they were a humidity problem. 
Therefore we kept the same product but changed the design as you can see below:.  

Central part that allows good 
ventilation from the sides what 

fights against humidity by 
reducing the cow sweat. 

Top and bottom part of the Waterbed. 

The grooves going down to the end of the 
cubicles help to improve the runoff of the 
liquids again to fight against the humidity what 
is the main factor of bacteria development. 

 

�� Rubber mat with fabric profile 3.2mm thick  
(200mm wide) 
�� Available in two versions: fabric profile 3.2mm 
and wave profile 3.2mm 
�� Or 8mm rubber top layer with heavy tissue 
reinforcement and provided with hammer 
stock profile on top for proper grip 
�� Polylatex soft mattress, 30 or 40mm thick, 
from ideal combination of PU and latex foam 
�� Stable and elastic (pressing 240kg/m³)
�� No dent formation
�� Top layer tested by DLG
�� Easy to clean

Top layer  8 mm, hammer stroke profilelWave profile (alternative fabric profile) 

A B

A B
21
.0
8.
20
15Matratze -  Topmat 3mm

D
at
um
:

1  Polylatex soft mattress 30 mm
2  3.2 mm thick rubber top layer  

3  Mounting profile Aluminium
4  Mounting profile PE 

2 1

4

43

3

A B

A B
21
.0
8.
20
15Matratze -  Topmat 3mm

D
at
um
:

A B

A B

20
.0
8.
20
15Matratze -  Topmat 8mm

D
at
um
:

1  Polylatex soft mattress 30 / 40 mm
2  8.0 mm thick rubber top layer

3  Mounting profile INOX 40°
4  Mounting profile INOX 40°

2 1

4

43

3

A B

A B

20
.0
8.
20
15Matratze -  Topmat 8mm

D
at
um
:

A B

A B

20
.0
8.
20
15Matratze -  Topmat 8mm

D
at
um
:

A B

A B

21
.0
8.
20
15Matratze -  Topmat 3mm

D
at
um
:

Polylatex mattress with rubber top layer



26

Article No. Description

44-11600-110 Waterbed  Pazific 110 x 180 cm compl.,  
line profile

44-11600-115 Waterbed  Pazific 115 x 180 cm compl.,  
line profile

44-11600-120 Waterbed  Pazific 120 x 180 cm compl.,  
line profile

44-11500-001 Filling system for waterbeds

�� Rubber profile with high quality for optimal 
slip resistance and better grip 
�� No deformation 
�� Durable 
�� Easy to clean and disinfect 
�� Comfortable and skin-friendly surface 
�� Tested by DLG 

1  Polylatex Softmattress 30mm	 3  Mounting profile aluminium
2  3,2mm thick Gummitopmat  	 4  Mounting profile PE

A B

A B

21
.0
8.
20
15Matratze -  Topmat 3mm

D
at
um
:

A B

A B

21
.0
8.
20
15Matratze -  Topmat 3mm

D
at
um
:

2 1

4

43

3

AQUASTAR ULTIMATE 
with the impact of a waterbed

�� Latex underlay 35mm , density 300 kg/m3
�� Waterbed – 70mm – for pure comfort  
�� The water reduces pressure points and  
creates optimal blood circulation 
�� Optimal hygienic conditions for optimizing  
the milk production 
�� Ideal solution to solve slope problems 
�� Natural runoff of liquids to the rear
�� Mounting material included

Article No. Description

44-11700-115 Waterbed  Aquastar Ultimate 115 x 180 cm

44-11700-117 Waterbed  Aquastar Ultimate 117.5 x 180 cm

44-11700-120 Waterbed  Aquastar Ultimate 120 x 180 cm

Aquaboard is available optionally

Aqua Board

Latex underlay with water-bags

Waterbed with knee mattress

Cubicle bedding



27Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

41-55085-150 Rubber mat BP20, roll mat, 20mm thick, 150cm wide, per meter

41-55085-160 Rubber mat BP20, roll mat, 20mm thick, 160cm wide, per meter

41-55085-180 Rubber mat BP20, roll mat, 20mm thick, 180cm wide, per meter

41-55095-180 Rubber mat BP20, roll mat, 25mm thick, 180cm wide, per meter

41-55100-190 Rubber mat BP20, roll mat, 33/25mm thick, 190cm wide, per meter

98-55006-300 Mounting profile RVS 38 x 15 x 3000mm 90° incl. mounting material

KRAIBURG - MaxiBOX

�� Comfort deep litter cubicle 
�� Lasting softness through a pliant and highly 
wear resistant air cushioned profile
�� Elastic and ergonomically chamfered  
brisket board for comfortable lying  
down and lying
�� Litter losses are minimized
�� Integrated drainage for liquids
�� Recommended littering depth: 3 - 5 cm

Dimensions and prices on request

KRAIBURG rubber mat

Rubber mats with stud patterns



28

Rubber mats in the alley 

Alley floors allow the dairy cow to walk and stand softly and comfortably. On rubber floors 
cows show their natural behavior more than on concrete. Rubber is easy to clean and the 
surface provides good grip and high slip resistance. Rubber reduces injuries and leads to a 
better claw health.

Requirements for optimal use:
�� A manure handling system which leads to clean and dry alleys 
�� Claw abrasion must be possible  

Article No. Description

41-55077-000 Alley rubber on roll 18mm, per m²

Alley floors on roll

Alley floors



29Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Single rubber mat KRAIBURG-KURA-S

�� Slatted floor cover for dairy and young cattle 
�� Tailor-made for every slatted floor geometry 
�� Thickness: 24mm 
�� High slip resistance 
�� Improved walking comfort 
�� Supports claw health 
�� Dimensional stability and long durability through large-scale mats  
extending over several slatted floor elements
�� Easy mounting 
�� Compatible with use of manure scraper or robot scraper
�� Tested by DLG

Dimensions and prices on request 

Alley floor as single rubber mats 



30

Animal-friendly:
�� Barrier height: 100 cm 
�� Standard with extra wide head opening: upper 44 cm, lower: 37 cm 
�� Wider feeding range due to swinging catching bar 
�� Smooth finish, no obstructions
�� Quiet operation

Robust and reliable:
�� Upper and lower tube from thick walled 3.65 mm tube 
�� (Catching) bars 42.4 mm, with leash-protector PE
�� Locking-system: 33.7 mm tube with trap-closing 
�� Simple and smooth operating 
�� Easy to unlock individually

Feed barriers
Self-locking safety feed barrier model BE (from 18 months)



31Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

26-22590-479 Safety-feed barrier GV Typ BE 480 cm, 7 feeding places (fp)

26-22590-439 Safety-feed barrier GV Typ BE 440 cm, 7 feeding places (fp) 

26-22590-324 Safety-feed barrier GV Typ BE 325 cm, 5 feeding places (fp) 

26-22590-259 Safety-feed barrier GV Typ BE 260 cm, 4 feeding places (fp) 

26-22590-194 Safety-feed barrier GV Typ BE 195 cm, 3 feeding places (fp) 

26-22590-129 Safety-feed barrier GV Typ BE 130 cm, 2 feeding places (fp) 

26-22590-000 Safety-feed barrier GV Typ BE, made to measure, per fp, fp-width 62-69 cm

26-22591-000 Safety-feed barrier GV Typ BE, made to measure, per fp, fp-width 70-90 cm

26-22592-000 Safety-feed barrier GV Typ BE, made to measure, per fp, fp-width 91-110 cm

For accessories see page 39

Datum 04.01.2016

26-22590-324
-64er Stand- Sicherheitsfressgitter 
324cm 5FP Mod.BE mit Betonanker

19 43

324

2"1 14"1 14"

1 14"

1 14" 2"

1"

10
0

52
 - 

57 +10/15

0

37



32

Animal-friendly:
�� Barrier height 100 cm 
�� Head opening 37 cm 
�� Neck width: 20 cm 
�� Smooth finish, no obstructions
�� Quiet operation

Robust and reliable:
�� Upper and lower bar constructed from 50 mm sq. 
�� (catching) bars 42.4 mm tube, with leash-protector PE 
�� Other bars out of 35 x 20 mm 
�� Locking-system: 33.7 mm tube with valve-closing 
�� Simple and smooth operation

Self-locking feed barrier model KS (from 18 months)

Feed barriers



33Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

21-22560-485 Self-locking feed barrier GV Typ KS, 490 cm, 7 feeding places (fp) 

21-22560-475 Self-locking feed barrier GV Typ KS, 480 cm, 7 feeding places (fp)

21-22560-324 Self-locking feed barrier GV Typ KS, 325 cm, 5 feeding places (fp)

21-22560-259 Self-locking feed barrier GV Typ KS, 260 cm, 4 feeding places (fp)

21-22560-194 Self-locking feed barrier GV Typ KS, 195 cm, 3 feeding places (fp)

21-22560-129 Self-locking feed barrier GV Typ KS, 130 cm, 2 feeding places (fp)

21-22567-065 Self-locking feed barrier GV Typ KS, made to measure, per fp, fp-width 50-65 cm

21-22568-075 Self-locking feed barrier GV Typ KS, made to measure, per fp, fp-width 66-75 cm

21-22569-090 Self-locking feed barrier GV Typ KS, made to measure, per fp, fp-width 76-90 cm

For accessories see page 39

Datum 13.04.2015

21-22560-324 
Freßgitter 324cm 5FP 
100cm HW 20

10
0

52
-5

7

64 20

324

1"

1"

1"

�35x20mm 50x50mm

50x50mm

1"

0

+10/15



34

�� Barrier height 100cm 
�� Head opening 37cm 
�� Neck width: 18cm 
�� Upper and lower bar constructed  
from 50mm sq. 
�� (catching) bars out of 42.4mm tube  
�� Simple and smooth operation

Article No. Description

22-22351-324 Self-locking feed barrier model KS heifer 
12-18 months, 325cm, 6 feeding places (fp)

22-22351-000 Self-locking feed barrier model KS heifer 
12-18 months, made to measure, per fp, 
width <60cm

22-22352-000 Self-locking feed barrier model KS heifer  
12-18 months, made to measure, per fp, 
width 60-70 cm

For accessories see page 39

Datum 13.04.2015

22-22351-324 
Freßgitter 324cm 6FP 
100cm HW18

0

+10/15

52 18

324
10

0
52

-5
7

50x50mm

50x50mm1"

1"

1" �35x20mm

Self-locking feed barrier model KS (12-18 months)

Feed barriers



35Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

�� Barrier height 82cm 
�� Head opening 34cm 
�� Neck width adjustable  
�� Upper and lower bar constructed  
from 50mm sq. 
�� (catching) bars out of 42.4mm tube  
�� Simple and smooth operation

Article No. Description

22-22361-324 Self-locking feed barrier JV model KS, 
325 cm, 7 feeding places (fp) 

22-22361-000 Self-locking feed barrier JV model KS,  
made to measure, per fp, width < 55 cm, 
adjustable, neck width 12-19 cm 

For accessories see page 39

Datum 21.04.2015

22-22361-324 
Freßgitter 325/7 82cm
Jungvieh 2-12 Monate 

0

+10/15

40
 - 

49
82

324

45 12 - 19 1"

1"

�50x30mm

�50x30mm�35x20mm1"

1"

Self-locking feed barrier model KS (2-12 months)



36

�� Barrier height 86 cm 
�� Neck width: 20 cm 
�� Suitable for horned cattle 
�� Smooth finish, no obstructions
�� Reduced noise 
�� Lower profile from 60 mm sq. bar 
�� Simple operation

Article No. Description

24-22301-080 Self-locking feed barrier model Swedish, 
made to measure, per fp, width 60-70 cm

24-22302-080 Self-locking feed barrier model Swedish, 
made to measure, per fp, width 71-80 cm 

For accessories see page 39

Datum 14.04.2015

24-22305-324 
Schwedengitter 
324cm 5FP HW20

1,5"

1,5"

50x50mm1" 1"

86
52

-5
7

324

63 20

0

+10/15

Self-locking feed barrier model Swedish (from 18 months)

Feed barriers



37Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

�� Barrier height: 82cm/100cm  
�� Suitable for calves  
and young stock 
�� Smooth finish,  
no obstructions

Article No. Description

Feed barrier model diagonal

25-22370-324 large stock from 18 months, 325cm

25-22370-100 large stock from 18 months, made to measure per meter

25-22372-324 heifers 12-20 months, 325cm

25-22372-100 heifers 12-20 months, made to measure per meter

25-22380-324 young cattle 6-12 months, 325cm

25-22380-100 young cattle 6-12 months, made to measure per meter

25-22382-324 calves 2-6 months, 325cm

25-22382-100 calves 2-6 months, made to measure per meter

For accessories see page 39

Datum 16.06.2015

25-22370-324 
Diagonalgitter 324cm 7FP 
HW 30 GV 100cm

0

+10/15

L

HW H

B

Measurements B H

Large stock  
from 18 months

30 cm 100 cm

Young stock/heifers 
12-20 months

26 cm 100 cm

Young stock  
6-12 months

23 cm 82 cm

Calves  
to 6 months

20 cm 82 cm

Datum 16.06.2015

25-22370-324 
Diagonalgitter 324cm 7FP 
HW 30 GV 100cm

0

+10/15

L

HW H

Feed barriers model Diagonal (from 2 months)



38

Article No. Description

90-21251-015 Distance support feed tube 15cm 

90-21251-020 Distance support feed tube 20cm 

16-22860-000 Threaded strap M12, 60.3 x 90mm

16-22895-000 Threaded strap M12, 70 x 102mm sq.

16-22891-000 Threaded strap M12, 76.1 x 110mm

96-21220-200 Meter tube galv. 60.3 x 3.65mm

16-21234-200 Tube coupling outer for 60.3mm

96-21220-250 Meter tube galv. 76.1 x 3.65mm

16-21240-250 Tube coupling outer for 76.1mm

For accessories see page 39

Datum 16.06.2015

Fressgitter aus Festen Rohren

50 0

+10/15

74

15

Tubular feed barriers consist of one or two 
horizontal placed tubes mounted to support 
posts or rafters. This system is perfect for 
farmers who do not want or need to lock 
their cows and provide them free access. 
The upper tube preferably is mounted with  
a distance support (15-20cm) helping to 
prevent pressure spots in neck. 

Distance support feed tube (15 or 20 cm)

Tubular barrier fence

Feed barriers



39Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Accessories

Article No. Description

Support Posts 70 mm sq. with base and gusset

98-22195-150 Support post 70mm sq. x 150cm screw on

98-22195-160 Support post 70mm sq. x 160cm screw on

98-22195-180 Support post 70mm sq. x 180cm screw on

Support posts Ø 76.1mm with base and gusset

98-22045-150 Support post 76.1mm x 150cm screw on

98-22045-160 Support post 76.1mm x 160cm screw on

98-22045-180 Support post 76.1mm x 180cm screw on

Support posts cast-in

98-22190-150 Support post 70mm sq. x 150cm cast-in

98-22190-180 Support post 70mm sq. 180cm cast-in 

98-22040-150 Support post 76.1mm x 150cm cast-in

98-22040-180 Support post 76.1mm x 180cm cast-in

Article No. Description

Protective sleeves

95-21264-200 Protective sleeve for 60.3 x 180mm

95-21264-250 Protective sleeve for 76.1 x 180mm

95-21264-300 Protective sleeve for 88.9 x 180mm

95-21265-070 Protective sleeve for 70mm sq. x 180mm

End caps

95-21270-200 End cap for 60.3mm

95-21270-250 End cap for 76.1mm

95-21270-300 End cap for 88.9mm

95-21271-070 End cap for 70mm sq. 

Article No. Description

Support post extensions

95-22184-025 Support post extension, L = 25cm for 76.1mm support post

95-22185-025 Support post extension L = 25cm for 70mm sq. support post

Support post repair bar

95-22131-000 Repair bar 70 x 4 x 500mm for 76.1 mm support post

Article No. Description

95-21208-001 Cast-in casing for 70mm sq. support post 

95-21208-002 Cover for casing 

SUPPORT POSTS 

PROTECTIVE SLEEVES AND END CAPS 

SUPPORT POST EXTENSIONS, REPAIR BAR

CAST-IN CASING FOR  
REMOVABLE SUPPORT POST

17
.0
6.
20

15Endkappen Kunstoffhülse

D
at
um

:

17
.0
6.
20

15Endkappen Kunstoffhülse

D
at
um

:

11
.0
8.
20

15

Standrohre
D
at
um

:1
1.
08

.2
01

5

Standrohre
D
at
um

:

11
.0
8.
20

15
Standrohre

D
at
um

:

11
.0
8.
20

15
Standrohre

D
at
um

:

18
.0
6.
20

15Standrohrverlängerung 
VK70 - 2,5" D

at
um

:

Datum 18.06.2015

95-21208-001 
Mantelbuchse mit Deckel 
für VK 70

Da
tu
m

18
.0

6.
20

15

95
-2

21
31

-0
00

 Re
pa
ra
tu
rr
oh
r 
50
cm

 

fü
r 
St
an
dr
oh
r 
2,5

z 

screw on

95-21264-xxx

95-21270-xxx

95-2218x-025 95-22131-000

95-21265-070

95-21271-070

cast-in

18
.0
6.
20

15Standrohrverlängerung 
VK70 - 2,5" D

at
um

:



40 12
.0
8.
20

15Satz Montageteile 
an Mittestandrohr VK70 D

at
um

:

Accessories

Article No. Description

68-73417-000 Angled profile 60 x 6, 60 mm, 1 elongated hole

68-73419-000 Angled profile 60 x 6, 60 mm, 1 elongated hole square 

90-22160-000 Angled profile 60 x 6, 100 mm, 2 elongated hole

90-22271-000 Angled profile 60 x 6, 190 mm, 2 elongated hole 

90-22272-000 Angled profile 150 x 100 x 8 mm 

68-73415-006 Angled profile 60 x 6, 90 mm, 1 elongated hole

90-22278-000 Angled profile 60 x 6, 140 mm, 1 round hole

90-22279-000 Angled profile 60 x 6, 140 mm, 1 elongated hole 

90-22285-000 Angled profile 60 x 6, 140 mm, 2 elongated hole 

90-22289-000 Angled profile 60 x 6, 240 mm, 2 elongated hole 

90-22291-000 Angled profile 60 x 6, 290 mm, 2 elongated hole 

Article No. Description

98-22690-000 Set mounting parts on 70mm sq.

98-22690-005 Set mounting parts on 70mm sq. +5 cm

98-22690-010 Set mounting parts on 70mm sq. +10 cm

98-22690-015 Set mounting parts on 70mm sq. +15 cm

98-22695-000 Set mounting parts on 76.1mm

98-22695-005 Set mounting parts on 76.1mm + 5 cm

98-22695-010 Set mounting parts on 76.1mm + 10 cm

98-22695-015 Set mounting parts on 76.1mm +15 cm

98-22694-000 Set mounting parts on 88.9mm

98-22694-005 Set mounting parts on 88.9mm +5 cm

98-22694-010 Set mounting parts on 88.9mm +10 cm

98-22694-015 Set mounting parts on 88.9mm +15 cm

98-22417-270 Set mounting parts for feed barrier 60.3mm  
on support post 70mm sq.

98-22417-225 Set mounting parts for feed barrier 60.3mm  
on support post 76.1mm 

98-22417-570 Set mounting parts for feed barrier 50mm sq.  
on support post 70mm sq.

98-22417-525 Set mounting parts for feed barrier 50mm sq.  
on support post 76.1mm

ANGLED PROFILES

MOUNTING PARTS

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0
6.
20

15Satz Montageteile an VK70

D
at
um

:

68-73417-000	 68-73419-000 	 90-22160-000

90-22271-000	 90-22272-000	 68-73415-006	

98-2269X-XXX

98-22417-XXX

90-22289-000	 90-22291-000

90-22278-000	 90-22279-000	 90-22285-000

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

18
.0

6.
20

15Winkel

D
at

um
:

68-73417-000 
Winkel 60x6  60mm

68-73419-000 
Winkel 60x6  60mm

90-22160-000 
Winkel 60x6-100mm 

90-22271-000 
Winkel 60x6 190mm VSL

90-22272-000 
Winkel 150 x 100 x 8mm

90-22276-000 
Winkel 60x6 140mm

90-22277-000 
Winkel 60x6 190mm 

90-22278-000 
Winkel 60x6 140mm 

90-22279-000 
Winkel 60x6 140mm

90-22285-000 
Winkel 60x6 140mm 

90-22291-000 
Winkel 60x6 290mm 

90-22289-000 
Winkel 60x6 240mm 

90-22286-000 
Winkel 60x6 180mm 

93

43

26

40

65

37

26

26

50

43 26

26

25

75

43 26

26

44 26

14

44 26

26

43
26

42

40

20

10
5

20
65

14

43
26

68

40

30
24

30

24

26

26

118

40

43

40

68-73415-006
Winkel 60x6 90mm 

54

26

12
.0
8.
20

15Satz Montageteile 
an Mittestandrohr VK70 D

at
um

:

Feed barriers



41Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

23
.0
7.
20

15Bedienungshebel

D
at
um

:

Datum 24.07.2015

90-22311-000 Kopfrohrhalter schwenkbar

Datum 18.06.2015

90-22311-000 Kopfrohrhalter schwenkbar

Datum 13.08.2015

90-22284-000 Kette mit Stift

11
.0

8.
20

15

Verriegelung Fressgitter

D
at

um
:

90-22493-050 Verriegelung Fressgitter lang 1,5" / VK50
90-22493-060 Verriegelung Fressgitter lang 2" / VK60

90-22492-050 Verriegelung Fressgitter 1,5" / VK50
90-22492-060 Verriegelung Fressgitter 2" / VK60

Datum 18.06.2015

20-22204-050 Knielattenhalter

Datum11.08.2015

98-22653-000 Schutzbügel

Datum11.08.2015

98-22653-000 Schutzbügel

Datum 18.06.2015

20-22298-050 Stützrad

11
.0

8.
20

15

Verriegelung Fressgitter

D
at

um
:

90-22493-050 Verriegelung Fressgitter lang 1,5" / VK50
90-22493-060 Verriegelung Fressgitter lang 2" / VK60

90-22492-050 Verriegelung Fressgitter 1,5" / VK50
90-22492-060 Verriegelung Fressgitter 2" / VK60

11
.0

8.
20

15

Verriegelung Fressgitter

D
at

um
:

90-22493-050 Verriegelung Fressgitter lang 1,5" / VK50
90-22493-060 Verriegelung Fressgitter lang 2" / VK60

90-22492-050 Verriegelung Fressgitter 1,5" / VK50
90-22492-060 Verriegelung Fressgitter 2" / VK60

Datum 13.08.2015

90-22282-105 Drehstange

90-22282-xxx

Datum 13.08.2015

90-22284-000 Kette mit Stift

Datum 13.08.2015

90-22284-000 Kette mit Stift

Datum 13.08.2015

90-22282-105 Drehstange

Article No. Description

20-22420-000 Operating lever for feed barrier BE

20-22411-000 Operating lever for feed barrier KS

24-22414-000 Operating lever for feed barrier Swedish

Article No. Description

90-22311-000 Support for head bar, swing-back

90-22813-000 Threaded strap M10, 33.7 x 60mm

90-22815-000 Threaded strap M10, 42.4 x 75mm

98-10010-100 Bolt with nut M10x100

96-21220-100 Meter tube galv. 33.7 x 3.25mm

90-22284-000 Locking pin with chain

Article No. Description

20-22298-035 Support wheel on 50mm sq. x 30

20-22298-150 Support wheel on 48.3mm

20-22298-200 Support wheel on 60.3mm

20-22298-050 Support wheel on 50mm sq.

20-22298-060 Support wheel on 60mm sq.

20-22204-035 Board fastener on 50mm sq. x 30

20-22204-150 Board fastener on 48.3mm

20-22204-200 Board fastener on 60.3mm 

20-22204-050 Board fastener on 50mm sq.

20-22204-060 Board fastener on 60mm sq.

98-22653-000 Protection bow compl.

Article No. Description

98-22493-050 Locking set for feed barrier 50mm sq.

98-22493-060 Locking set for feed barrier 60.3mm

Article No. Description

90-22282-105 Locking pin 105 cm

90-22282-130 Locking pin 130 cm

90-22284-000 Locking pin with chain

Article No. Description

68-73417-000 Angled profile 60 x 6, 60 mm, 1 elongated hole

68-73419-000 Angled profile 60 x 6, 60 mm, 1 elongated hole square 

90-22160-000 Angled profile 60 x 6, 100 mm, 2 elongated hole

90-22271-000 Angled profile 60 x 6, 190 mm, 2 elongated hole 

90-22272-000 Angled profile 150 x 100 x 8 mm 

68-73415-006 Angled profile 60 x 6, 90 mm, 1 elongated hole

90-22278-000 Angled profile 60 x 6, 140 mm, 1 round hole

90-22279-000 Angled profile 60 x 6, 140 mm, 1 elongated hole 

90-22285-000 Angled profile 60 x 6, 140 mm, 2 elongated hole 

90-22289-000 Angled profile 60 x 6, 240 mm, 2 elongated hole 

90-22291-000 Angled profile 60 x 6, 290 mm, 2 elongated hole 

Article No. Description

98-22690-000 Set mounting parts on 70mm sq.

98-22690-005 Set mounting parts on 70mm sq. +5 cm

98-22690-010 Set mounting parts on 70mm sq. +10 cm

98-22690-015 Set mounting parts on 70mm sq. +15 cm

98-22695-000 Set mounting parts on 76.1mm

98-22695-005 Set mounting parts on 76.1mm + 5 cm

98-22695-010 Set mounting parts on 76.1mm + 10 cm

98-22695-015 Set mounting parts on 76.1mm +15 cm

98-22694-000 Set mounting parts on 88.9mm

98-22694-005 Set mounting parts on 88.9mm +5 cm

98-22694-010 Set mounting parts on 88.9mm +10 cm

98-22694-015 Set mounting parts on 88.9mm +15 cm

98-22417-270 Set mounting parts for feed barrier 60.3mm  
on support post 70mm sq.

98-22417-225 Set mounting parts for feed barrier 60.3mm  
on support post 76.1mm 

98-22417-570 Set mounting parts for feed barrier 50mm sq.  
on support post 70mm sq.

98-22417-525 Set mounting parts for feed barrier 50mm sq.  
on support post 76.1mm

OPERATING LEVER

SUPPORT FOR SWING-BACK HEAD BAR

SUPPORT WHEELS, BOARD FASTENERS  
AND PROTECTION BOW

LOCKING SYSTEMS

20-22298-XXX

98-22653-000

20-22204-XXX

Accessories



42

Inox drinking trough with 160mm outflow opening

�� Trough and valve-cover made from thick INOX plates  
�� Easy to clean due to the large outflow opening of Ø 160 mm 
�� Side connection for the circulation system 
�� Standard provided with Suevia Masterflow-valve (connection 26.9 mm) 
�� Available for floor and wall mounting, with legs or wall supports
�� Measurements excluding valve-cover: 46 x 100 / 200 / 300 / 400 cm

Article No. Description

50-23001-100 Drinking trough Inox 100 cm compl., wall mounting 

50-23001-200 Drinking trough Inox 200 cm compl., wall mounting 

50-23001-300 Drinking trough Inox 300 cm compl., wall mounting 

50-23001-400 Drinking trough Inox 400 cm compl., wall mounting 

Optionally available with protection bracket:

50-22034-100 Protection bracket for drinking trough 100 cm

50-22034-200 Protection bracket for drinking trough 200 cm

50-22034-300 Protection bracket for drinking trough 300 cm

50-22034-400 Protection bracket for drinking trough 400 cm

All drinking troughs are also available for floor installation.

Water supplies



43Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Drinking troughs

�� One-piece body Rockite-polyethylene construction, 
high-impact resistance 
�� Smoothly finishing, no obstructions
�� Extraordinary durable material 
�� Resistant to corrosion and dent 
�� 5-8cm urethane insulation
�� Rubber gasket valve-cover 
�� Round bottom for easy cleaning

Article No. Description

54-00226-200 Big Spring Drinker Mod. 6200, 213 x 56 x 56 cm

54-00226-300 Big Spring Drinker Mod. 6300, 366 x 56 x 56 cm

54-00226-400 Big Spring Drinker Mod. 6400, 305 x 56 x 56 cm

56-00224-500 Heating unit 230V / 500W for Big Spring

54-00223-100 Lil Spring Drinker Mod. 3100, 91 x 56 x 69 cm

54-00223-200 Lil Spring Drinker Mod. 3200, 122 x 61 x 74 cm

56-00224-250 Heating unit 230V / 250W for Lil Spring

FROST-RESISTANT DRINKING TROUGHS, MODEL SPRING 

54-00223-200

54-00226-200

54-00226-400

54-00223-100

54-00226-300



44

Article No. Description

56-01010-300 Heating unit 3000W/400V Suevia Mod. 300, Pump 100W

56-01010-303 Heating unit 3000W/230V Suevia Mod. 303, Pump 100W

56-01010-311 Heating unit 3000W/400V Suevia Mod. 311, Pump 400W

56-01010-312 Heating unit 6000W/400V Suevia Mod. 312, Pump 400W

59-01010-309 Flow control

HEATING AND CIRCULATION UNITS 

Suevia 311 Suevia 312

Suevia 300 / 303 Suevia 309

�� Ideal for cattle and dairy cows in free stalls   
– space saving and self-cleaning design
�� Completely made of stainless steel 
�� Water flow of up to 30l/min permits a continual  
and efficient watering of the animals   

Article No. Description

51-01300-500 Valve Trough Drinker Model 500

51-01300-600 Trough Drinker with float valve Model 600

51-01300-620 Double Trough Drinker with float valve Model 620 

INOX VALVE DRINKERS

Modell 500 Modell 600

Modell 620

Drinking troughs and accessories

Article No. Description

59-01310-700 Maxiflow float valve 26.9 mm Mod. 700

59-01310-723 Masterflow float valve 26.9 mm Mod. 723

59-01310-671 Membrane float valve 21.3 mm

50-23014-000 Cover plate INOX 2-piece compl. 

59-22034-000 Stop 160 mm polyester concrete

59-22026-015 Rubber stop for 48.3 mm outflow

59-22018-100 Support foot drinking trough 100 cm

59-22021-003 Wall support drinking trough with 3 elongated holes  

59-82100-000 Connection hose 48.3 mm x 50 cm, with INOX hose clamps

59-22023-000 Support drinking trough on support post

ACCESSORIES DRINKING TROUGHS 

59-01310-700 59-01310-723

59-01310-671

Water supplies



45Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Model 1200
�� Large deep bowl in stainless steel 
�� Robust, secure against fracture 
�� Due to rim bent inwards, water wastage  
is reduced to a minimum 
�� Very high water flow up to 20l/min 

Model 25R
�� Large drinking bowl made of cast iron,  
completely enameled 
�� Calm water flow through tube valve 
�� Water flow continuously adjustable from  
outside by means of a regulation screw 

Model 115
�� Large drinking bowl made of cast iron,  
completely enameled
�� Water flow regulation possible 

Model 370
�� Drinking bowl made of cast iron,  
completely enameled especially for calves 
�� Always fresh and clean water 
�� Water flow continuously adjustable from  
outside by means of a regulation screw

Article No. Description

51-01001-200 Drinking bowl Model 1200 stainless steel

51-01000-250 Drinking bowl enameled Model 25R

51-01000-115 Drinking bowl enameled Model 115

51-01000-370 Drinking bowl enameled Model 370

Article No. Description

56-01010-300 Heating unit 3000W/400V Suevia Mod. 300, Pump 100W

56-01010-303 Heating unit 3000W/230V Suevia Mod. 303, Pump 100W

56-01010-311 Heating unit 3000W/400V Suevia Mod. 311, Pump 400W

56-01010-312 Heating unit 6000W/400V Suevia Mod. 312, Pump 400W

59-01010-309 Flow control

Suevia 1200

Suevia 25R

Suevia 115

Suevia 370

Article No. Description

51-01300-500 Valve Trough Drinker Model 500

51-01300-600 Trough Drinker with float valve Model 600

51-01300-620 Double Trough Drinker with float valve Model 620 

Drinking bowls 

Article No. Description

59-01310-700 Maxiflow float valve 26.9 mm Mod. 700

59-01310-723 Masterflow float valve 26.9 mm Mod. 723

59-01310-671 Membrane float valve 21.3 mm

50-23014-000 Cover plate INOX 2-piece compl. 

59-22034-000 Stop 160 mm polyester concrete

59-22026-015 Rubber stop for 48.3 mm outflow

59-22018-100 Support foot drinking trough 100 cm

59-22021-003 Wall support drinking trough with 3 elongated holes  

59-82100-000 Connection hose 48.3 mm x 50 cm, with INOX hose clamps

59-22023-000 Support drinking trough on support post



46

We provide a wide range of partition barriers for the purposes of cow traffic and 
group partitioning in modern barns. The barriers, hinges and locks are produced in 
high quality in our own factory.

Our range of partition fences consists of: 
�� Partition barriers with 80cm height 
�� Insert-extensions 
�� Draw gates up to 500cm wide 
�� Group barriers 
�� One-way gates 
�� Cow treatment road 

Partition barriers



47Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

32-23470-200 Partition barriers 48.3mm, 200 x 80cm

32-23470-250 Partition barriers 48.3mm, 250 x 80cm 

32-23470-300 Partition barriers 48.3mm, 300 x 80cm

32-23470-350 Partition barriers 48.3mm, 350 x 80cm

32-23470-400 Partition barriers 48.3mm, 400 x 80cm

32-23470-450 Partition barriers 48.3mm, 450 x 80cm

Article No. Description

32-23490-200 Partition barriers 60.3mm, 200 x 80cm

32-23490-250 Partition barriers 60.3mm, 250 x 80cm

32-23490-300 Partition barriers 60.3mm, 300 x 80cm

32-23490-350 Partition barriers 60.3mm, 350 x 80cm

32-23490-400 Partition barriers 60.3mm, 400 x 80cm

32-23490-450 Partition barriers 60.3mm, 450 x 80cm

32-23490-500 Partition barriers 60.3mm, 500 x 80cm

Article No. Description

33-23480-150 Insert-extensions 48.3mm, 150 x 80cm

33-23480-200 Insert-extensions 48.3mm, 200 x 80cm

33-23480-250 Insert-extensions 48.3mm, 250 x 80cm

33-23480-300 Insert-extensions 48.3mm, 300 x 80cm

Article No.   Description

32-23520-200 Partition barriers 60.3mm, 200 x 80cm

32-23520-250 Partition barriers 60.3mm, 250 x 80cm

32-23520-300 Partition barriers 60.3mm, 300 x 80cm

32-23520-350 Partition barriers 60.3mm, 350 x 80cm

32-23520-400 Partition barriers 60.3mm, 400 x 80cm

32-23520-450 Partition barriers 60.3mm, 450 x 80cm

PARTITION BARRIERS 48.3mm x 80cm

PARTITION BARRIERS 60.3mm x 80cm

INSERT-EXTENSIONS (TWO PIPES) for partition barriers 60.3mm

PARTITION BARRIERS 60.3mm x 80 cm (hinged on one side)

Datum 18.06.2015

32-23470-300 Abtrenngitter 1,5" 300 x 80cm

80

L

 1,5"

Datum 19.06.2015

32-23490-300 Abtrenngitter 2" 300 x 80cm

80

L

 2"

Datum 19.06.2015

33-23480-200 Einschiebeteil 1,5"

L

 1,5"

 1,5" 2"

80

Datum 19.06.2015

33-23480-200 Einschiebeteil 1,5"

L

 1,5"

 1,5" 2"

80

Datum 19.06.2015

32-23520-200 
Abtrenngitter 2" 200 x 80cm 3 Rohre 
an Standrohr mit Ascon

8010
4

L

Article No. Description

33-23540-100 Insert-extensions 48.3mm, 100 x 80cm

33-23540-150 Insert-extensions 48.3mm, 150 x 80cm

33-23540-200 Insert-extensions 48.3mm, 200 x 80cm

33-23540-250 Insert-extensions 48.3mm, 250 x 80cm

INSERT-EXTENSIONS (THREE PIPES) for partition barriers 60.3mm

Datum 19.06.2015

33-23540-200 Einschiebeteil 1,5" mit 3 Rohren

L

 1,5"

 1,5" 2"

80

Datum 19.06.2015

33-23540-200 Einschiebeteil 1,5" mit 3 Rohren

L

 1,5"

 1,5" 2"

80



48

Article No. Description

90-22172-000 Wall fastener for 50 mm sq.

90-22511-090 Anchor bolt hot galv. M10x90

95-23401-120 Support post 50 mm sq. x 120cm with two hinges

98-10010-080 Bolt with nut M10x80

90-22054-000 Bow bracket 48.3 mm, 30 x 5 mm

90-22893-000 Threaded strap M10. 50 mm sq. x 80

16-22234-000 Parallel clamp 50 mm sq. x 60.3 mm

29-22487-000 Set mounting parts partition barrier  
33.7 mm tube to feed barrier 48.3 mm

29-22487-001 Set mounting parts partition barrier  
26.9 mm tube to feed barrier 48.3 mm

98-22475-000 Insert part 45° compl.

98-22476-000 Insert part 90° compl.

Article No. Description

95-29920-300 Support post 76.1 mm x 300 cm  
heavy duty base

30-29920-000 Set accessories draw gates,  
3-bar end section for 48.3 mm tube

96-21220-150 Meter tube 48.3 mm galv.

90-22513-095 Anchor bolt hot galv. M12x95

90-29172-300 Slat anchor INOX M12x300

HINGE SETS for movable partition barriers

DRAW GATES 

26
.0
6.
20

15Scharnierset 80cm Befestigung 
Abtrenngitter an CV-Box hinten D

at
um

:

26
.0
6.
20
15 Scharnierset 80cm Befestigung 

Abtrenngitter an CV-Box hintenD
at
um
:

26
.0
6.
20

15Scharnierset 80cm Befestigung 
Abtrenngitter an CV-Box vorne D

at
um

:

08
.0
9.
20

15Abtrenngitter zwischen Fressgitter
und Liegebox mit Montagesatz D

at
um

:

Da
tu

m
09

.0
5.
20

18Hubtor kpl

Da
tu

m
09

.0
5.
20

18Hubtor kpl

�� Draw gate widths up to 500 cm 
�� Light operation due to the weights which  
are adjusted to the different widths and  
large pull blocks
�� The weights are integrated in the support posts 
�� Easy to move because of the practical  
locking mechanism 
�� Installation height: 320 cm 
�� Clearance height: 220 cm

06
.0
1.
20

16Kuhbehandlungsstrasse

D
at
um

:

10080

80

15
0

Article No. Description

98-22195-080 Support post 70 mm sq. x 80 cm screw on

90-22513-095 Anchor bolt hot galv. M12x95

35-21245-070 Meter square tube 70 x 70 x 4 mm galv.

35-21243-070 Tube coupling 70 mm sq. inner

35-21242-000 Fixing plate 70 mm sq. to 70 mm sq.

35-22084-000 End bow 60.3 mm

96-21220-200 Meter tube galv. 60.3 mm

35-21241-000 Partition rod

COW TREATMENT ROAD

Partition barriers



49Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

20
.0
8.
20

15

Texastür

D
at
um

:

Article No. Description

31-22420-320 Group barrier 320 x 100 - 17.5cm 

31-22420-600 Group barrier 600 x 100 - 17.5cm

31-22420-100 Group barrier 100 - 17.5cm  
made to measure, per meter

31-22425-320 Group barrier 320 x 125 - 17.5cm

31-22425-600 Group barrier 600 x 125 - 17.5cm

31-22425-100 Group barrier 125 - 17.5cm  
made to measure, per meter

39-22445-000 Surcharge opening for drinking bowl

Article No. Description

31-22430-320 Group barrier 320 x 100 - 14cm 

31-22430-600 Group barrier 600 x 100 – 14cm

31-22430-100
Group barrier 100 - 14cm  
made to measure, per meter

31-22435-320 Group barrier 320 x 125 - 14cm

31-22435-600 Group barrier 600 x 125 - 14cm

31-22435-100
Group barrier 125 - 14cm  
made to measure, per meter

39-22445-000 Surcharge opening for drinking bowl

Article No. Description

90-29925-350 Barrier 60.3mm 350cm

90-29925-500 Barrier 60.3mm 500cm

90-21401-000 Catch-lock single 60.3mm, wall mounted

90-22491-000 Catch-lock for barrier 48.3mm,  
60.3mm and 50mm sq.

90-23560-000 Wall fastener 60.3mm for barrier / group barrier

Article No. Description

90-22177-001 Central support 60.3mm 200 x 100cm,  
bent, for Texas gates

90-22174-000 Set Texas gates

90-22177-002 Texas foot plate

98-22178-000 Self-closing one-way gate 100-150cm, adjustable

Article No. Description

90-22172-000 Wall fastener for 50 mm sq.

90-22511-090 Anchor bolt hot galv. M10x90

95-23401-120 Support post 50 mm sq. x 120cm with two hinges

98-10010-080 Bolt with nut M10x80

90-22054-000 Bow bracket 48.3 mm, 30 x 5 mm

90-22893-000 Threaded strap M10. 50 mm sq. x 80

16-22234-000 Parallel clamp 50 mm sq. x 60.3 mm

29-22487-000 Set mounting parts partition barrier  
33.7 mm tube to feed barrier 48.3 mm

29-22487-001 Set mounting parts partition barrier  
26.9 mm tube to feed barrier 48.3 mm

98-22475-000 Insert part 45° compl.

98-22476-000 Insert part 90° compl.

Article No. Description

95-29920-300 Support post 76.1 mm x 300 cm  
heavy duty base

30-29920-000 Set accessories draw gates,  
3-bar end section for 48.3 mm tube

96-21220-150 Meter tube 48.3 mm galv.

90-22513-095 Anchor bolt hot galv. M12x95

90-29172-300 Slat anchor INOX M12x300

GROUP BARRIERS LARGE STOCK

GROUP BARRIERS YOUNG STOCK

BARRIERS 

ONE-WAY GATES (self closing)

Datum 23.06.2015

31-22420-320 Abtrenngitter 320 x 100 - 17,5cm

10
0 

/ 1
25

L

17,5  50  1"

Datum 23.06.2015

31-22431-320 
Abtrenngitter 320 x 100 - 14cm 
mit Tränkebeckenaussparung

10
0 

/ 1
25

L

14  50  1"

05
.0
1.
20

16

Schranke 2"

D
at
um

:

Datum 23.06.2015

90-22178-000 Einrichtungstür

90-22174-000

90-22177-001

98-22178-000

90-22177-002

Article No. Description

98-22195-080 Support post 70 mm sq. x 80 cm screw on

90-22513-095 Anchor bolt hot galv. M12x95

35-21245-070 Meter square tube 70 x 70 x 4 mm galv.

35-21243-070 Tube coupling 70 mm sq. inner

35-21242-000 Fixing plate 70 mm sq. to 70 mm sq.

35-22084-000 End bow 60.3 mm

96-21220-200 Meter tube galv. 60.3 mm

35-21241-000 Partition rod



50

Article No. Description

20-22298-150 Support wheel on 48.3mm

20-22298-200 Support wheel on 60.3mm

20-22298-050 Support wheel on 50mm sq.

98-22298-000 Support wheel XL on 60.3mm

Article No. Description

30-22201-000 Wall fastener smal for 48.3mm

30-22215-000 Wall fastener small for 60.3mm

30-22210-000 Wall fastener wide for 48.3mm

30-22217-000 Wall fastener wide for 60.3mm

30-22202-000 Wall fastener wide for 48.3mm 3 holes

30-22216-000 Wall fastener wide for 60.3mm holes

90-23560-000 Wall fastener for 60.3mm for barrier/group barrier

For threaded straps see page 22

Article No. Description

90-22390-000 Mounting part for 70mm sq. for one partition

90-22391-000 Mounting part for 70mm sq. for two partitions

90-22392-000 Mounting part for 70mm sq.  
for two partitions 180°

90-22393-000 Mounting part for 70mm sq. for three partitions

Article No. Description

98-22386-000 Adjustable hinge for group barrier  
with socket for 48.3mm

98-22386-020 Adjustable hinge for group barrier  
with socket for 60.3mm

98-22387-000 Adjustable hinge for group barrier  
with with 2 nuts + washer 

SUPPORT WHEELS FOR PARTITION BARRIERS

WALL FASTENERS 

MOUNTING PARTS for 70mm sq.

ADJUSTABLE HINGES

23
.0

6.
20

15

Wandhalter

D
at

um
:

Wandhalter Schmal 1,5"/2" Wandhalter breit 1,5"/2" Wandhalter breit 1,5"/2", 3 Löcher Wandhalter für 2"

23
.0
6.
20

15Gitterbefestigung 70VK

D
at
um

:

20
.0
8.
20

15Schraubhülse M20 
mit Rundeisen 40mm D

at
um

:

20
.0
8.
20

15Schraubhülse M20 
mit Muttern D

at
um

:

20
.0
8.
20

15Schraubhülse M20 
mit Muttern D

at
um

:

20
.0
8.
20
15

Halter Schubkarrenrad
D
at
um
:

30-22201-000
30-22215-000

98-22386-xxx 98-22387-000

30-22210-000
30-22217-000

90-22391-00090-22390-000

30-22202-000
30-22216-000

90-22392-000

90-23560-000

90-22393-000

20
.0
8.
20

15Schraubhülse M20 
mit Rundeisen 40mm D

at
um

:

20
.0
8.
20
15

Halter Schubkarrenrad
D
at
um
:

Article No. Description

90-29172-200 Slat anchor galv. + RVS M12 x 250mm

90-29172-300 Slat anchor galv. + RVS M12 x 300mm

90-29172-400 Slat anchor galv. + RVS M12 x 400mm

SLAT ANCHOR 

Datum08.05.2015

90-29172-200 
Spaltenanker 200mm 
M12 - 250mm Datum08.05.2015

90-29172-200 
Spaltenanker 200mm 
M12 - 250mm

Partition barriers
Accessories



51Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de30
.0
6.
20

15

Article No. Description

20-22298-150 Support wheel on 48.3mm

20-22298-200 Support wheel on 60.3mm

20-22298-050 Support wheel on 50mm sq.

98-22298-000 Support wheel XL on 60.3mm

Article No. Description

30-22201-000 Wall fastener smal for 48.3mm

30-22215-000 Wall fastener small for 60.3mm

30-22210-000 Wall fastener wide for 48.3mm

30-22217-000 Wall fastener wide for 60.3mm

30-22202-000 Wall fastener wide for 48.3mm 3 holes

30-22216-000 Wall fastener wide for 60.3mm holes

90-23560-000 Wall fastener for 60.3mm for barrier/group barrier

For threaded straps see page 22

Article No. Description

90-22390-000 Mounting part for 70mm sq. for one partition

90-22391-000 Mounting part for 70mm sq. for two partitions

90-22392-000 Mounting part for 70mm sq.  
for two partitions 180°

90-22393-000 Mounting part for 70mm sq. for three partitions

Article No. Description

98-22386-000 Adjustable hinge for group barrier  
with socket for 48.3mm

98-22386-020 Adjustable hinge for group barrier  
with socket for 60.3mm

98-22387-000 Adjustable hinge for group barrier  
with with 2 nuts + washer 

Article No. Description

30-22497-150 Locking type  Ascon 80cm, 48.3mm  

30-22497-200 Locking type  Ascon 80cm, 60.3mm  

30-22495-100 Locking type  Ascon 100cm, 50mm sq.  

30-22495-125 Locking type  Ascon 125cm, 50mm sq.

39-22498-001 Extra locking sleeve for Ascon

LOCKING SYSTEMS

Article No. Description

90-21402-000 Catch-lock single 48.3mm, wall mounted

90-21401-000 Catch-lock single 60.3mm, wall mounted

90-22491-000 Catch-lock with U-profile adjustable

CATCH-LOCKS 

LOCKING PINS

CROSS-OVER LOCKS

SUSPENSION SET

Datum 13.08.2015

90-22284-000 Kette mit Stift

Datum 13.08.2015

90-22284-000 Kette mit Stift

Datum 24.06.2015

90-21402-000 Klingverschluß für 1,5z seitlichDatum 23.06.2015

90-22491-000 
Klingverschluß verschiebbar 
1,5-2", 3 x U-Bügel

25
.0
6.
20

15

Überschlagriegel Typ C, Typ D

D
at
um

:

25
.0
6.
20

15

Überschlagriegel Typ C, Typ D

D
at
um

:

Datum 25.06.2015

39-22495-100 Verriegelung Ascon 100cm VK50Datum 08.09.2015

39-22498-002 Verriegelungsrohr 1,5" Ascon

Suspension set for group barrier  > 300 cm

cable 8 mm

90-22282-xxx

90-22284-000

30-22497-xxx

90-22491-000 90-2140x-000

double
single

30-22495-xxx

Article No. Description

90-22282-105 Locking pins 105cm

90-22282-130 Locking pins 130cm

90-22284-000 Locking pin with chain

Article No. Description

30-22570-000 Single cross-over lock for 48.3mm tube

30-22571-000 Double cross-over lock for 48.3mm tube

30-22570-050 Single cross-over lock for 50mm sq. 

30-22571-050 Double cross-over lock for 50mm sq. 

30-22574-000 Single cross-over lock for 60.3mm tube

30-22575-000 Double cross-over lock for 60.3mm tube 

Article No. Description

30-22450-008 Suspension set with 8mm cable and  
tensioner for group barrier 

90-22278-000 Angled profile 60x6, 140mm, 1 round hole

Datum 13.08.2015

90-22282-105 Drehstange

Datum 13.08.2015

90-22282-105 Drehstange

For Threaded straps see page 22  |  For bow brackets see page 52



52

Article No. Description Dimensions

90-22221-000 Cross-over clamp 33.7mm x 33.7mm

90-22222-000 Cross-over clamp 42.4mm x 33.7mm

90-22223-000 Cross-over clamp 42.4mm x 42.4mm

90-22225-000 Cross-over clamp 48.3 mm x 33.7mm

90-22224-000 Cross-over clamp 48.3 mm x 42.4mm

90-22226-000 Cross-over clamp 48.3 mm x 48.3 mm

90-22227-000 Cross-over clamp 60.3 x 48.3 mm

90-22228-000 Cross-over clamp 60.3 x 60.3 mm

90-22229-000 Cross-over clamp 76.1 x 60.3 mm

CROSS OVER CLAMPS with cast-iron block

Datum 11.08.2015

90-22226-000 Kreuzklemme

Article No. Description Dimensions

90-22161-000 Bow brackets half 48.3mm 40 x 5 mm

90-22162-000 Bow brackets half 60.3mm 40 x 6 mm

90-22165-000 Bow brackets half 50mm sq. 30 x 5 mm

BOW BRACKETS HALF

Datum 08.05.2015

90-22162-000 Kappbügel halb, 2", 40x6

BOW BRACKETS ROUND 

Datum 08.05.2015

90-22055-000 Kappbügel 2", 30 x 5

Datum 14.08.2015

16-22254-000 Kappbügelklemme 1,5", 100x5

Article No. Description Dimensions

90-22050-000 Bow bracket  21.3 mm 25 x 3 mm

90-22051-000 Bow bracket 26.9 mm 30 x 4 mm

90-22052-000 Bow bracket 33.7 mm 30 x 4 mm

90-22053-000 Bow bracket 42.4 mm 30 x 5 mm

90-22054-000 Bow bracket 48.3 mm 30 x 5 mm

16-22254-000 Bow bracket 48.3 mm 100 x 5 mm

90-22055-000 Bow bracket 60.3 mm 30 x 5 mm

16-22255-000 Bow bracket 60.3 mm 100 x 5 mm

90-22056-000 Bow bracket 76.1 mm 30 x 5 mm 

16-22257-000 Bow bracket 76.1 mm 100 x 5 mm

90-22057-000 Bow bracket 88.9 mm 30 x 5 mm

90-22156-000 Bow bracket 101.6 mm 30 x 5 mm

90-22157-000 Bow bracket 114.3 mm 30 x 5 mm

Partition barriers
Accessories



53Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description Dimensions

90-22221-000 Cross-over clamp 33.7mm x 33.7mm

90-22222-000 Cross-over clamp 42.4mm x 33.7mm

90-22223-000 Cross-over clamp 42.4mm x 42.4mm

90-22225-000 Cross-over clamp 48.3 mm x 33.7mm

90-22224-000 Cross-over clamp 48.3 mm x 42.4mm

90-22226-000 Cross-over clamp 48.3 mm x 48.3 mm

90-22227-000 Cross-over clamp 60.3 x 48.3 mm

90-22228-000 Cross-over clamp 60.3 x 60.3 mm

90-22229-000 Cross-over clamp 76.1 x 60.3 mm

Article No. Description Dimensions

90-22161-000 Bow brackets half 48.3mm 40 x 5 mm

90-22162-000 Bow brackets half 60.3mm 40 x 6 mm

90-22165-000 Bow brackets half 50mm sq. 30 x 5 mm

On long alleys the discharge channel can be 
placed in the middle or at the end. 

Synchronized with the scraper lifts the platform 
for manure removal up and sets after cleaning 
back in position. A clean solution. 

�� For alley widths from 200 up to 500cm
�� Best walkability of the floor and safe  
operations are taken into account
�� Also usable with hinged partition barriers  
or draw gates 
�� Safe and robust technique

Datum 03.02.2017 Übertriebsbrücke für
 Abwurfschacht

Over-path bridge for discharge shaft



54

Beerepoot supplies a wide range of labour saving and low maintenance scraper 
systems for cow barns e.g. combi scrapers, folding scrapers and slatted floor scrapers. 
All scrapers are custom manufactured. This means that they are made to measure for 
every different application.

Our different kinds of scrapers are driven by our high-quality and reliable chain drive 
units with a drive power of 0.75kW (Manganese steel chain 13mm x 36mm).

�� One drive unit for alley lengths up to 100 meter (1x 0.75kW) 
�� Two drive units for alley lengths from 100 meter (2x 0.75kW, auxiliary drive) 
�� Low-emission 
�� Low-wear and robust technique 
�� Clean and dry alleys and therefore better barn hygiene and animal welfare 
�� Low construction costs 

Manure handling systems
Scraper systems



55Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Two drive units for alley lengths from 100 meter Automatic chain tightenerOne drive unit for alley lengths up to 100 meter



56

21
.0
9.
20

15Spaltenschieber

D
at
um

:

MANURE SCRAPERS Article No. Description

Combi scraper in U-profile with 500mm endblades  
(Drive: chain and rope/steel wire) 

60-84120-249 Combi scraper U-Profile 200–249 cm

60-84120-299 Combi scraper U-Profile 250-299 cm

60-84120-349 Combi scraper U-Profile 300-349 cm

60-84120-399 Combi scraper U-Profile 350-399 cm

60-84120-449 Combi scraper U-Profile 400-449 cm

60-84120-499 Combi scraper U-Profile 450-499 cm

up to 800cm, on request 

Options:

65-84131-000 Surcharge PU cleaning rubber 0-299 cm

65-84132-000 Surcharge PU cleaning rubber 300-349 cm

65-84133-000 Surcharge PU cleaning rubber 350-399 cm

65-84134-000 Surcharge PU cleaning rubber 400-449 cm

60-84129-000 Surcharge unequal alley lengths

65-84138-000 Surcharge retractable 

65-84136-000 Surcharge scraper-device for discharge flap

60-84305-000 Surcharge crowd gate, push-botton control

65-84130-000 Surcharge sled on combi scraper

Also available:

- Combi scraper for flat alley with longer endblades 750mm,  
  on request

- Combi scraper for alleys with rubber flooring, on request

Folding scrapers (drive: chain)

64-84250-279 Folding scraper 251-279 cm with U-profile

64-84250-319 Folding scraper 280-319 cm with U-profile

64-84250-359 Folding scraper 320-359 cm with U-profile

64-84250-399 Folding scraper 360-399 cm with U-profile

64-84250-439 Folding scraper 400-439 cm with U-profile

64-84250-480 Folding scraper 440-480 cm with U-profile

Slatted floor scrapers (Drive: chain and rope/steel wire)

60-84240-249 Slatted floor scraper 200-249 cm

60-84240-299 Slatted floor scraper 250-299 cm 

60-84240-349 Slatted floor scraper 300-349 cm

60-84240-399 Slatted floor scraper 350-399 cm

60-84240-499 Slatted floor scraper 400-499 cm

Options:

66-84229-000 Surcharge unequal alley lengths 

Combi scraper in U-profile (also for alleys with rubber flooring)

11
.0
8.
20

15Kombischieber U-Profil 
mit Abwurfklappe D

at
um

:

Combi scraper in U-profile with discharge flap

04
.0
1.
20

16

Kombischieber mit Treibgittter

D
at
um

:

Combi scraper in U-profile with crowd gate

10
.0
8.
20

15

Faltschieber

D
at
um

:

Folding scraper

Slatted floor scrapers (up to 8 m width)

Manure handling systems



57Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

Combi scraper in U-profile with 500mm endblades  
(Drive: chain and rope/steel wire) 

60-84120-249 Combi scraper U-Profile 200–249 cm

60-84120-299 Combi scraper U-Profile 250-299 cm

60-84120-349 Combi scraper U-Profile 300-349 cm

60-84120-399 Combi scraper U-Profile 350-399 cm

60-84120-449 Combi scraper U-Profile 400-449 cm

60-84120-499 Combi scraper U-Profile 450-499 cm

up to 800cm, on request 

Options:

65-84131-000 Surcharge PU cleaning rubber 0-299 cm

65-84132-000 Surcharge PU cleaning rubber 300-349 cm

65-84133-000 Surcharge PU cleaning rubber 350-399 cm

65-84134-000 Surcharge PU cleaning rubber 400-449 cm

60-84129-000 Surcharge unequal alley lengths

65-84138-000 Surcharge retractable 

65-84136-000 Surcharge scraper-device for discharge flap

60-84305-000 Surcharge crowd gate, push-botton control

65-84130-000 Surcharge sled on combi scraper

Also available:

- Combi scraper for flat alley with longer endblades 750mm,  
  on request

- Combi scraper for alleys with rubber flooring, on request

Folding scrapers (drive: chain)

64-84250-279 Folding scraper 251-279 cm with U-profile

64-84250-319 Folding scraper 280-319 cm with U-profile

64-84250-359 Folding scraper 320-359 cm with U-profile

64-84250-399 Folding scraper 360-399 cm with U-profile

64-84250-439 Folding scraper 400-439 cm with U-profile

64-84250-480 Folding scraper 440-480 cm with U-profile

Slatted floor scrapers (Drive: chain and rope/steel wire)

60-84240-249 Slatted floor scraper 200-249 cm

60-84240-299 Slatted floor scraper 250-299 cm 

60-84240-349 Slatted floor scraper 300-349 cm

60-84240-399 Slatted floor scraper 350-399 cm

60-84240-499 Slatted floor scraper 400-499 cm

Options:

66-84229-000 Surcharge unequal alley lengths 

Article No. Description

Drive unit on console for chain, 0.75kW/400V

60-84165-200 Drive unit 0.75kW on 2m console incl.  
screw jack for corner wheel 290/380mm

60-84166-200 Drive unit 0.75kW on 2m console with  
auxiliary engine for 290/380mm corner wheel

Vertical wheel set 

60-84155-290 Vertical wheel set for corner wheel 290mm

60-84155-380 Vertical wheel set for corner wheel 380mm

Electronic switchbox

60-84177-000 Electronic switchbox with time switch

60-84303-000 Temperature sensor compl.

Corner wheels, diameter 290 / 380mm

60-84150-290 Corner wheel 290mm compl. 

60-84150-380 Corner wheel 380mm compl. 

Steel chain 

61-84222-013 Steel chain 13mm, specially hardened, per meter

68-73552-013 Chain link connector 13mm

Discharge flaps

68-84200-299 Discharge flaps compl. 250-299 cm

68-84200-349 Discharge flaps compl. 300-349 cm

68-84200-399 Discharge flaps compl. 350-399 cm

68-84200-449 Discharge flaps compl. 400-449 cm

Diverse 

68-73564-001 Meter UNP 65 profile with connector, galvanized

68-73527-050 Automatic chain tightener 

68-73565-001 Meter round steel bar with chain connector

CHAIN DRIVE UNIT 

03
.0

6.
20

15Abmessungen
Antrieb mit Eckrolle 380mm L D

at
um

:

1000530

680

470

Winkel können auch auf der 
Innenseite angebracht werden.

25
00

460 236200

535

76
5

150

35
6

10
.0
8.
20

15

Antrieb

D
at
um

:

10
.0
8.
20

15

Eckrollen

D
at
um

:

10
.0
8.
20

15

Eckrollen

D
at
um

:

Corner wheel 380mm

SPS control system

Drive unit 0,75 kW

Drive unit on console for chain

Corner wheel 290mm

Accessories



58

For the husbandry of bulls, open barns with fully slotted floors and straw barns are 
widespread. On slotted floors the bulls are placed in big partitions. The manure 
handling takes places with a underfloor slurry system. In straw barns the animals 
transport the manure on the alley - therefore is a light slope of the lying area needed. 
The manure handling takes place with a folding scraper or a mobile system. 

Bulls mast 

Bull barns



59Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

�� For high performance in bull fatting
�� Feeding table barriers out of diagonal feed barriers or adjustable shoulder bars
�� Heavy duty material 
�� Manure handling with folding scraper or underfloor slurry system 
�� Promotes animal health (especially joints) and high lying comfort 

Versions and prices on request  |  Feed barrier model diagonal: page 37  |  Tubular barrier fence: page 38



60

Separators
Sedimax® Separators 

Performance: 	 Max. 50 m3 / h
Sieve drum: 	 600 / 300 / 250
Joint widths: 	 0.25 - 0.90 mm
Inlet / Overflow:	 NW 75 / NW 100
Connections: 	 400 V, 50 Hz, 5.5 kW
Housing: 	 stainless steel 
Screen basket: 	 stainless steel 
Screw: 	 stainless steel  / stainless steel  / PU
Measurements: 	 L 1950 mm, B 800 mm, H 1500 mm
Weight: 	 560 kg

Performance: 	 Max. 10 m3 / h
Sieve drum: 	 290 / 150
Joint widths: 	 0.25 - 0.90 mm
Inlet / Overflow:	 NW 50 / NW 75
Connections: 	 400 V, 50 Hz, 2.2 kW
Housing: 	 stainless steel
Screen basket: 	 stainless steel
Screw: 	 stainless steel / stainless steel / PU
Measurements: 	 L 1200 mm, B 680 mm, H 1100 mm
Weight: 	 170 kg

Separate solids from liquids 

Exemplary applications: 
�� Green bedding 
�� Biogas plants 
�� Agriculture; for waste water treatment  
and to solute the nitrogen problem 
�� Execution according to individual requirements

Sedimax® SP 50

Sedimax® SP 10

SIEVE DRUM AND MEMBRANE 

Technical versions and prices on request

In different variations and for individual requirements 



61Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Mikro filter separator

Separate fine particles from liquids

The micro filter is used in combination with a press-screw 
separator and enables the subsequent microfiltration of the 
liquid phase from the preceding separation stage. 

The filter is mainly used for manure, fermentation residues 
in biogas plants or industrial waste water – thus in almost all 
wastewater treatment processes.

�� After treatment of the liquid phase  
from the first separation stage
�� For very pure applications
�� High filtration efficiency
�� Self-cleaning operation
�� Fast installation
�� Simple maintenance
�� Low operating costs
�� Stainless steel sieve in 50 μm, 25 μm or 15 μm  
(0.05 mm, 0.025 mm or 0.015 mm)
�� Drive power: 7.5kW
�� Compact dimensions

Versions and prices on request



62

Pumps and mixers
EISELE Vertical pumps

EISELE – Vertical pumps – Type VM:

�� VM with electrical motor (heavy duty) from 11.0 – 22.0 kW 
and a capacity up to 6000 l/min

Standard equipped with highly wear resistant mechanical 
seal and a shaft running in an oil bath. The screw wings with 
12-times counter blade are covered with Widia steel.
 
V-Pumps are reliable, robust and safe dry running. Hereby 
and because of the ease of use, a long life is achieved at high 
power. 
 
Optional extras:
�� Nozzles
�� Various switches and control systems
�� Oil reservoir
�� Gearbox with through shaft
�� Various drainage elbows

Article No. Description

Vertical-slurry-pumps

71-70793-154 Vertical pump VM 1541, 11.0 kW / 15 PS / 400 V

71-71131-204 Vertical pump VM 2041, 15.0 kW / 20 PS / 400 V

71-71149-254 Vertical pump VM 2541, 18.5 kW / 25 PS / 400 V

71-71167-304 Vertical pump VM 3041, 22.0 kW / 30 PS / 400 V

Switches and controls

76-32260-154 Star-delta switch for VM 1541, 11.0 kW

76-34114-204 Star-delta switch for VM 2041, 15.0 kW

76-32262-254 Star-delta switch for VM 2541, 18.5 kW

76-32262-304 Star-delta switch for VM 3041, 22.0 kW

76-35560-154 Control ACDGJ 154 for VM 1541, 11.0 kW

76-37364-204 Control ACDGJ 204 for VM 2041, 15.0 kW

76-37039-254 Control ACDGJ 254 for VM 2541, 18.5 kW

76-36695-304 Control ACDGJ 304 for VM 3041, 22.0 kW

Accessories

76-36309-000 Oil reserve container for VM vertical-slurry-pump compl.

76-73746-000 Discharge bend 45° with Male part 133 galvanized

76-74044-000 Discharge bend 45° with Male-part 159 galvanized

76-70631-000 Discharge bend 90° with Male-part 133 galvanized

76-73028-000 Discharge bend 90° with Male-part 159 galvanized

76-41005-000 Straight discharge upwards with Female-part 133

76-63440-000 Gearbox with through shaft



63Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

EISELE Submersible mixer type GTWS-U

EISELE – Submersible mixer  
– Typ GTWS-U 

in sizes 7.5kW / 11.0 kW / 15.0 kW 
available in 

�� Heavy duty agricultural  
execution (GTWS/GTWSU).

Standard equipped with installed thermal contacts, 
control electrode and double wear resistant mechanical 
seal. The submersible mixers, with their robust and 
reliable construction, enable a high stirring performance 
and long running times.

Optional extras:
�� Guide rail made of stainless steel
�� Agitator blade out of stainless steel
�� Various switches and control systems

EISELE – Submersible pump  
– Typ AT-R 	

available in the sizes 7.5kW / 11.0 kW / 
15.0 kW / 18.5 kW / 22.0 kW and 
depending on the power equipped with

�� Open impeller

�� Screw impeller with Widia steel

Standard equipped with installed thermal contacts, 
control electrode, double wear resistant mechanical 
seal and large catch.  AT-R submersible pumps have 
proven themselves a thousand fold in agriculture. They 
are characterized by high reliability, longevity, simple 
installation and easy handling.

Optional extras:

�� Affixing covering
�� Flange bows and flange nozzles
�� Various switches and control systems

EISELE Submersible pumps

Article No. Description

Submersible mixer

73-82266-104 GTWSU 1040, 7.5 kW / 10 PS / 400 V

73-83155-154 GTWSU 1540, 11.0 kW / 15 PS / 400 V

73-82943-204 GTWSU 204, 15.0 kW / 20 PS / 400 V

Star-Delta reversing motor protective switch  
with CEE plugs 32A

76-35417-104 for GTWSU 1040, 7.5 kW

76-34971-154 for GTWSU 1540, 11.0 kW

76-34971-204 for GTWSU 204, 15.0 kW

Controls 

76-36112-104 ABCDQ 104 for GTWSU 1040, 7.5 kW

76-36614-154 ABCDQ 154 for GTWSU 1540, 11.0 kW

76-36615-204 ABCDQ 204 for GTWSU 204, 15.0 kW

Accessories

76-21231-007 link chain RVS – 8 x 52 x 32mm per meter

76-83612-250 Set Z-guides RVS L=250cm

76-83612-300 Set Z-guides RVS L=300cm

76-83613-250 Set U-guides RVS L=250cm

76-83613-300 Set U-guides RVS L=300cm

76-12503-290 Top plate RVS H=29cm, B=100cm

76-12503-500 Top plate RVS H=50cm, B=100cm

Article No. Description

Submersible pumps

71-69251-104 AT-R 104-O, 7.5 kW / 10 PS / 400 V

71-76088-104 AT-R 104-S, 7.5 kW / 10 PS / 400 V

71-77180-154 AT-R 154-S, 11.0 kW / 15 PS / 400 V

71-77181-204 AT-R 204-S, 15.0 kW / 20 PS / 400 V

71-82889-254 AT-R 254-S, 18.5 kW / 25 PS / 400 V

71-82890-304 AT-R 304-S, 22.0 kW / 30 PS / 400 V

Star-Delta reversing motor protective switch  
with CEE plugs 32A 

76-36201-104 for AT-R 104, 7.5 kW	 (32 A)

76-34503-154 for AT-R 154, 11.0 kW	 (32 A)

76-34503-204 for AT-R 204, 15.0 kW	 (32 A)

76-36603-254 for AT-R 254, 18.5 kW	 (63 A)

76-36603-304 for AT-R 304, 22.0 kW	 (63 A)

Accessories

76-31944-000 Continuous float detector  
for switching off the pump

76-79283-000 Large catch RVS per meter



64

All types of mixers are equipped with the special liquid 
manure-proof mud bearings, which gives the mixers a 
long service life. The special mixing cylinder round the 
wing ensures highly effective intake of the manure. All 
mixers are hot-dipped galvanized. 

The mixers can be equipped with a reversing unit, 
so that they are suitable for 2 directions, suction and 
pressure. 

PTO MIXER TYPE SUPER-GIGANT AND MAMMUT
Article No. Description

74-80800-400 Slurry mixer Super-Gigant 400  
tube length = 400cm (total 431cm), with 3-bladed wing, 
D=50cm, mixer frame 54 x 54cm, including mixer support 
excluding power take off Shaft; Capacity: 2130m³/h

74-80800-500 Slurry mixer Super-Gigant 500  
tube length = 500cm (total 531cm)
Further provided as Super Gigant 400

74-80800-600 Slurry mixer Super-Gigant 600  
tube length = 600cm (total 631cm)
Further provided as Super Gigant 400

74-80900-400 Slurry mixer Mammut 400  
tube length = 400cm, with 3-bladed wing, D=60cm, mi-
xer frame 70 x 70cm, including mixer support excluding 
power take off Shaft; Capacity: 3350m³/h

74-80900-500 Slurry mixer Mammut 500  
tube length = 500cm, further provided as Mammut 400

74-80900-600 Slurry mixer Mammut 600  
tube length = 600cm, further provided as Mammut 400

05
.0
1.
20

16Mixerkasten Mammut 70cm 
mit Gleitschiene D

at
um

:

Guiding frame with mixer frame

Mammut electric mixer

MAMMUT ELECTRIC MIXER
Article No. Description

73-80900-400 tube length = 400cm, with 3 bladed wing d=60cm,  
mixer frame 70 x 70cm with 25PS electric motor and gear 
box, incl. star-delta turning switch for two directions,  
excl. cable; Capacity: 3350m³/h 
Other sizes on request

ACCESSORIES 
Article No. Description

76-80731-500 Guiding frame 500 cm Gigant for mixer frame 54 x 54 cm

76-80732-500 Guiding frame 500 cm Mammut for mixer frame 70 x 70 cm

76-80732-600 Guiding frame 600 cm Mammut for mixer frame 70x70 cm

75-80721-054 Mixer frame 54 x 54 cm Gigant

75-80721-070 Mixer frame 70 x 70 cm Mammut

76-81100-000 Three-point hitch

76-81200-000 Tilting three-point-hitch

76-81300-000 Reversing gear for Super Gigant und Mammut

Super-Gigant and Mammut mixers

PTO

Pumps and mixers



65Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

PTO MIXER TYPE SUPER-GIGANT AND MAMMUT
Article No. Description

74-80800-400 Slurry mixer Super-Gigant 400  
tube length = 400cm (total 431cm), with 3-bladed wing, 
D=50cm, mixer frame 54 x 54cm, including mixer support 
excluding power take off Shaft; Capacity: 2130m³/h

74-80800-500 Slurry mixer Super-Gigant 500  
tube length = 500cm (total 531cm)
Further provided as Super Gigant 400

74-80800-600 Slurry mixer Super-Gigant 600  
tube length = 600cm (total 631cm)
Further provided as Super Gigant 400

74-80900-400 Slurry mixer Mammut 400  
tube length = 400cm, with 3-bladed wing, D=60cm, mi-
xer frame 70 x 70cm, including mixer support excluding 
power take off Shaft; Capacity: 3350m³/h

74-80900-500 Slurry mixer Mammut 500  
tube length = 500cm, further provided as Mammut 400

74-80900-600 Slurry mixer Mammut 600  
tube length = 600cm, further provided as Mammut 400

Article No. Description

75-00200-395 Female part 165.3mm x 152mm with hose tail

75-00200-365 Male part 165.3mm x 152mm with hose tail

75-00200-714 Steel flange with hose tail 160x152mm

75-00200-763 End part 150mm

75-00200-222 Bend 90° with Female and Male part 160mm

75-00200-223 Bend 90° with 2x Female part

75-00200-562 Bend 90° with 2x flange 160mm

75-00200-523 Bend 45° with 2x flange 160mm

75-00200-722 T-piece 90° 3x flange 159mm

75-00200-667 Connection part 160mm 2x flange,  
60.3mm output

75-00200-597 Male part with flange 159mm

75-00200-600 Male part with flange 159mm – 60.3mm output

75-00200-506 Bend 45° with male part and flange 165.3mm

75-00200-617 Female part with flange 159mm

75-00200-663 Steel flange galv. 160mm

Article No. Description

75-00309-094 PVC pressure pipe 160mm, 10 bar

75-00110-196 PVC Bend 90° 2x socket 160mm, 12.5 bar

75-00110-220 PVC Bend 45° 2x socket 160mm, 12.5 bar

75-00100-755 PVC Bend 30° 2x socket 160mm, 12.5 bar

75-00110-117 PVC elbow 90° 2x socket 160 x 160mm

75-00110-131 PVC elbow 45° 2x socket 160 x 160mm, 16bar

75-00110-263 T-piece 90° 3x socket 160 x 160mm, 16bar

75-00110-279 T-Piece 45° 3x socket 160 x 160mm, 6bar

75-00110-597 PVC End cap 160mm, 16bar

75-00110-657 PVC Socket 160 x 160mm, 16bar

75-00110-682 PVC Reducing socket 160 x 125mm, 10bar

75-00110-686 PVC Reducing socket 2000 x 160mm, 10bar

75-00110-909 PVC Stub flange machined 160mm, 16bar

75-00143-011 PVC glue

75-00149-010 PVC Cleaner

Article No. Description

75-00520-227 Arizona suction hose 160mm, 2bar

75-00520-050 Spiral hose 50mm Type 08, PVC

75-07006-692 Flat hose 152mm, 4 bar

75-00465-013 Hose clip 61-63 mm

75-00465-026 Hose clip 140-148 mm

75-00465-027 Hose clip 149-161 mm

GALVANIZED ACCESSORIES

PVC ACCESSORIES 

HOSES 

75-00200-395

75-00309-094

75-00520-227

75-00200-562

75-00465-XXX

75-00200-597

75-00110-279

75-00110-909

75-00200-365

75-00110-196

75-00520-050

75-00200-523

75-00110-117

75-00200-506

75-00110-597

75-00143-011 75-00149-010

75-00200-763

75-00110-220

75-07006-692

75-00200-722

75-00110-131

75-00200-617

75-00110-657

75-00200-222

75-00100-755

75-00200-667

75-00110-263

75-00200-663

75-00110-682

MAMMUT ELECTRIC MIXER
Article No. Description

73-80900-400 tube length = 400cm, with 3 bladed wing d=60cm,  
mixer frame 70 x 70cm with 25PS electric motor and gear 
box, incl. star-delta turning switch for two directions,  
excl. cable; Capacity: 3350m³/h 
Other sizes on request

ACCESSORIES 
Article No. Description

76-80731-500 Guiding frame 500 cm Gigant for mixer frame 54 x 54 cm

76-80732-500 Guiding frame 500 cm Mammut for mixer frame 70 x 70 cm

76-80732-600 Guiding frame 600 cm Mammut for mixer frame 70x70 cm

75-80721-054 Mixer frame 54 x 54 cm Gigant

75-80721-070 Mixer frame 70 x 70 cm Mammut

76-81100-000 Three-point hitch

76-81200-000 Tilting three-point-hitch

76-81300-000 Reversing gear for Super Gigant und Mammut

Accessories slurry handling



66

�� Maximum dimensions: 6.00 m width, 6.00 m height
�� High wind protection
�� For daily opening and closing
�� Drive unit with 400 V electrical motor or 230 V tube motor  
with or without radio remote control or hand winch
�� Roll up opening system
�� Stabilized by horizontal tubes and guide rails with lip seals
�� Incl. bale coverage

Light & air 
LUBRATEC® Stabidoor



67Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

�� Pulleys or a central drive tube  
are used for suspension
�� Opens from the top downwards  
and winds onto a bottom roller
�� Opening heights up to 3.10m
�� System height (fabric width) up to 3.20m
�� Maximum system length: 80m
�� Drive optionally manual or electrical,  
with or without control system

�� Maximum opening height up to 5.00 m
�� Maximum system length up to 15.00 m
�� Curtain wraps in the middle of a 78 mm 
steel slot tube
�� Electronical drive unit 230 V  
with minimum space requirement
�� Guided with lateral guide rails  
and sealing lips
�� Without ratchet tension

�� Maximum dimensions:  
5.50 m width, 5.00 m height
�� For daily opening and closing
�� High wind protection
�� Optional storm safety
�� Driven by tube motors with or  
without remote control or hand winch
�� The tubes run in aluminium guide rails  
with lip seals
�� The hanging winds upwards onto  
a central roller

LUBRATEC® Roll-up systems

LUBRATEC® Roller blind front with tube motor for in closure use

LUBRATEC® Roller blind door



68

Article No. Description

81-32000-250 AGRILED® PRO 32 – 250 W, 36,000 lumen

Article No. Description

81-32000-125 AGRILED® PRO 16 – 125 W, 18,000 lumen

Article No. Description

81-38022-000 Agribox slave X additionally for further  
36/250W or 24/400W

81-32032-000 Agribox PRO 32 for up to 30 LED armatures

81-32032-020 Agribox switch for AGRILED PRO 32

81-32033-000 Agribox pro switch additionally from 30 LED armatures

Article No. Description

81-32010-036 Agrilight installation bracket PRO 2x36cm

81-32010-101 Agrilight installation bracket PRO 2x101cm

AGRILED® PRO 32 
250W, 144 Lm/W, Lifetime: 60,000 h 

AGRILED® PRO 16 
125W, 144 Lm/W, Lifetime: 60,000 h 

CONTROL SYSTEMS

INSTALLATION BRACKETS

Barn lighting

Light & air 



69Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Article No. Description

86-50501-130  BP Basket fan 130cm,  
230 V / 3 Phasen  / 50 Hz

86-40921-000  Intelligent Fan Drive (IFD), max. 1250 W,  
input: 230V / 1 phase,  
output: 230V/3 phase,  
1 piece per basket fan

Accessories for BP 130cm:

86-40910-000 Suspension set: 2x 7.5m chain, 1x 0.5m chain,  
6 carabiners, 3 screw hooks 

86-40922-000 Electronic control, automatic, Master 5,  
up to 50 IFD´s, incl. thermostat

86-40913-000 Electronic switchbox 25A/3pl for fans

Also available in 50, 63 and 71cm

Article No. Description

86-50100-140 BP Ceiling fan PV600, 140cm, 230V/70W

86-40914-000 Motor protection switch 0.4-0.63A

86-40904-000 Electronic control, manual, EW3

86-40902-001 Speed control, manual, 3.15A

86-40902-002 Speed control, manual, 6.30A

86-40913-000 On/Off Switch 25A / 3 phases

BASKET FAN

CEILING FAN PV600

����������������������������������������������������������������������������������������������������
��������� 
����������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������������
�����������������������������������������������������������������������������������������������������
�������������������

�����������������������

�������������������������������
����������
���������
�	���������������������������������������������
�	������������������������
����������������������������������������������������������������������� ��������������
����������������������­��������
�������������������������������������������­���������������������

����������������������������­����������������������­�����������������
����������������������������������������­����
������
����������
�����������������������­����
����������­�������������­����
������	��������������������

�� �����������
�����������­�����­���������������������������������������������
���������������������������

���������������������������
�	�������������������������������������������������­�����������������­���
������������
�������������������������������­����������­������������������������������������­������
�����������������������������������
�����������������������������������������������������­����������������������������������

�������������������������������� ���� �����������������������������­������������������

������������������������������������������������������������������������������������������������������������������������������������������������������
                                                                                                
������������­��������������������������
������������������������
����
�������������­�������������������������
��������������������������
���������­������������������������������������������������������������������������������������������������������������������������������������

������������������������������������������������������������������������������������������������������������������������������������������������������
                                                                                                   
������������­���������������������������� ������	�������
���������������������������������������������������������������������������������������������������������������
�����������������������
���������������������������������	�������������
�����������������
�����������������������
�����������������������

Technical specifications basket and ceiling fans

Fan type

130 cm 50 cm 63 cm 71 cm PV600

Impeller diameter (cm) 130 50 63 71 140

rPm/min 525 1400 900 900 275

Air output m³/h 49,000 7,050 9,350 13,300 21,250

Power (Watt) 1,050 290 420 530 90

Voltage 230 230 230 230 230

Motor class IP55 IP55 IP55 IP55 IP55

Weight 40 9 16 18,5 7

Total Height 164 60 73 81 --

Pendulum length -- -- -- -- 48

Reach (meter) 149 67 71 91 --

Sound (dB(A)) 67 58 58 59 42

49.000 m³ / h

Basket fans



70

Our calf pens are available as individual pens or as  
row boxes. It‘s a variable plug system which is everytime 
expandable. 

�� Easy assembling 
�� Side panels out of hygienic, synthetic material  
(30 mm thick)
�� The frame is hot galvanized 
�� Measurements inner: L x W x H 150 x 91 x 98 cm 
�� Front door with catching device 
�� Easy to clean / disinfect

Article No. Description

98-01435-000 Basic unit 91cm with 2 synthetic side panels

98-01436-000 Modular built-on unit. 1 synthetic side

91-01440-090 Back panel 91cm, synthetic

98-01450-000 Calf pen compl. with bucket holder

91-01452-000 Dolly with wheels

91-01465-000 Bucket holder with retaining hooks

91-01464-000 Bucket holder for bucket with teat

91-01465-008 Bucket 8 liters

91-01466-012 Weaning bucket + teat, 12 liters

Individual calf pens

Various barn supplies



71Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Our calf hutches are completely out of 
polyester and provide a perfect system 
for calf rearing.

�� Available as individual our group  
calf hutch   
�� Ideal for outdoor rearing 
�� Strong and durable material 
�� Tiltable fence 
�� Smooth inner layer prevents bacterial 
growth and it´s easy to clean

Calf hutches 

Article No. Description

Calf rearing in the first 2-3 weeks

90-03047-500 Polyester calf hutch small 
150 x 120 x 125 cm with threshold

90-25030-900 Fencing for calf hutch small  
150 x 120 x 100 cm with bucket holder

Calf rearing between 0 and 8 weeks

90-01500-000 Polyester calf hutch Comfort  
200 x 120 x 125 cm with threshold

90-01500-001 Fencing for calf hutch comfort  
150 x 120 x 105 cm with bucket holder

Group hutch for up to 5 calves till 3 months

90-01510-000 Polyester calf hutch XL-5 260 x 225 x 180 cm  
with threshold and lifting eyes

90-01510-001 Fencing for calf hutch XL-5  
225 x 225 x 105 cm with 5x bucket holder

Group hutch for up to 10 calves till 3 months

90-01540-000 Polyester group hutch XL-10 245 x 450 x 200 cm 
with threshold and lifting eyes

90-01540-001 Fencing for calf hutch XL-10 290 x 450 x 105cm 
with 10x bucket holder

Accessories for the calf hutches 

91-25054-000 Hay rack small/comfort

91-01426-000 Hay rack XL-5 / XL-10

91-25058-000 Combifeeder (for hay and concentrates) 

91-25051-000 Weaning bucket holder

91-25059-000 Feeding trough

91-25056-500 Feeding bowl 5 liter

91-25057-000 Feeding bowl 8 liter

91-25056-000 Wearing bucket + teat



72

�� Robust treatment stages made of tube 50 x 50 mm, 
hot galvanized 
�� Floor made out of checker plate 
�� Knee supports from synthetic with rope and hook 
�� Front door with catching device 
�� Front door control on both front and rear end 
�� Complete with wide belly band and tendon band 
�� Dimensions: 195 x 120 x 210 cm (L x W x H) 

Article No. Description

98-10100-000 Treatment stage type AL27 complete with front leg  
supports with rope/hook, belly band and tendon band

92-10007-000 Additional price front leg supports with winches

92-10005-000 Dolly for AL27

92-10006-000 Push gate 90 cm for AL27

92-10000-000 Fastening for push gate 90cm for AL27

92-10004-000 Hind leg support for AL27

92-10001-000 Wide rubber belly band for AL27

92-10003-000 Electric winch for hind leg for AL27

92-10003-001 Electric winch for belly band for AL27

92-10003-002 Electric winch for 2 front leg supports for AL27

Treatment stages

Various barn supplies



73Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de

Claw bath

Article No. Description

90-01600-160 Claw bath 200 x 90 x 15 cm, 200 liters

90-01600-161 Claw bath 280 x 90 x 15 cm, 280 liters

Cow brush

Article No. Description

90-01305-002 Rotating cow brush KRAZZMAXX, 230 V, 50 Hz

Rotating cow brush – KRAZZMAXX
�� Manufactured with a shaped horizontal and vertical 
brush for cleaning back, chest and flanks
�� Brush of high-quality special synthetics 
�� Drive through maintenance free, durable running gear 
with hardened gear wheels 
��  Suitable for large and small cows through oscillating 
suspension 
�� Activation by lifting of the brush by the animals 
�� With increased resistance, the machine stops automati-
cally and switches the direction of rotation 
�� Stimulates the blood circulation 
�� Indoor and outdoor use possible
�� Mounting on the wall or a pillar



74

Processing solutions for cattle husbandry

From barn installation concepts to construction and completion of the required 
components, Beerepoot is a reliable partner for the agriculture business. Everything is 
in tune. The planning takes care of your individual requests. The material we use will 
do its job and the quality and manufacture meet the highest expectations of stability 
as well as longevity.

With our modern machinery and qualified employees we produce the majority of 
the barn equipment by ourselves. We complete our range with products from other 
renowned manufacturers.

Production 



75Tel.: +49 (0) 49 50 - 80 55 9 - 0            Fax: +49 (0) 49 50 - 80 55 9 - 21            zentrale@beerepoot.de




